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Subject : GE_Q01-Q10_KOTGTSS
Question ID:- 1

SCANTY
Choose the word similar in meaning to the one given above.
(1) Single

2) Distressing

2

(2)
(3) Scarce
(4)

4) Stll

Options:-

.1, Option ID :- 1,
« 2, OptionID :- 2,
. 3, OptionID :- 3,

« 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

DEVIOUS
Choose the word opposite in meaning to,the one given above.
(1) Covert

(2) Furtive

(3) Quiet

(4) Innocent
Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3, OptionID :- 7,

- 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

The gentle are not always weak.

(1) Adjective
(2) Adverb
(3) Noun

(4) Verb



https://t.me/Teachingexam

Options:-

.1, Option ID :- 9,

« 2, Option ID :- 10,
. 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 4

She is eating an apple.
Choose the option in which the above sentence has been written in Passive Voice.
(1) An apple has been eaten by her.

(2) An apple is being eaten by her.

(3) An apple was eaten by her.

(4) An apple was being eaten by her.
Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 1, Option ID : -13

Question ID:- 5

Kewal said, “Lata, why are you working so hard ?”
Choose the option in which the above sentence has been changed into Indirect Narration.

(1) Kewal said to Lata why she was working‘so hard.

(2) Kewal told Lata why is she working'so hard.

(8) Kewal enquired Lata why was she working so hard.

(4) Kewal enquired of Lata why.she was working so hard.
Options:-

.1, Option ID :- 17,
« 2, Option ID :- 18,
. 3, Option ID :- 19,

« 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6




Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence.

(A) boughtis
B) the horse

(
(C) recently
(
(

D) an Arab
E) which I
(1) DEABC
(2) CBDAE
(3) ABDEC
(4) BECAD
Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Identify the part of the sentence given below which has anferror.

Sarita told / me that / she is / going to Mumbai

() (b) (©) (d)

a
b
c

d

e e
= U NI

e e R e

—

4

R

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Identify the tense in which the sentence given below is written.
His silence will prove his guilt.

(1) Simple Present

(2) Simple Past

(3) Simple Future

(4)

4 Present Perfect

Options:-

.1, Option ID :- 29,
« 2, Option ID :- 30,
. 3, Option ID :- 31,




« 4, Option ID :- 32,
Answer Given:- 4, Option ID : -32

Question ID:- 9

Choose the option out of the ones that follow to fill in the blank in the sentence given below.
Nothing will be gained hurry.

(1) with

(2) in

(3) by

(4) through
Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,
. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Choose the option out of the ones that follow to fill in the blank in‘the sentence given below.

Heard melodies are sweet those unheard are sweeter,
(1) yet
(2) but
(3) and
(4) for
Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
. 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_KOTGTSS

Question ID:- 11

e TeU T TTereT Rl UeHT 39 UL STUId YY1 Haiteeh 3fud Sl aifeid |

o8 o1 7A X e =2 39 WA ot i el e wendt | 59w wifa 7, 39 ge E fra wea w2
&g eI, arATe SR qre o foreRT it g e WiAlde L0 § SAIshid Bl Hehdl ¢ |

7 W fEEm 9 R 9 =&l foerar

(1)
(2)
(3)
(4)

¥4 % 3

Options:-
.1, Option ID :- 41,
« 2, Option ID :- 42,




. 3, Option ID :- 43,

« 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

= fqu 7T TR i YgE 39 U e 9 o Haiiue 3ted 3w G |

5 e1q7 7 R Fregam 72 =8 w1 o wnifa 72 e weedt | 59 wm o wnifa =, 39 g o fae wea ® 2
e IEISH, ArEIet SR el 1 e SR g Tre HfEek A H Sshid 81 Hehal 7 |

T il wifd & fow s 21

(1) Ushiqard

(2)  HEHT FHEI

(3) HA =hl gHA
(4) H 9 TR

Options:-

.1, Option ID :- 45,

« 2, Option ID :- 46,

. 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

A feu 7T Ty 1 Uesd S9 W eid YA i Haifees 3fEa s e

5T o7 7 R Fean 39 T Wi e e dehdl | T T o it T, o8 ga S faa g g 2
I WIEIST, ATEISH SR Tl 1 Forehr ekt g ared wfaes I 9 Sshid 8 Hehal 2

Q:WWWWQW%:
Y gEfHE 7

(1) 5= g & & sy
2) To 2 & wfea &
(3) TS sam eryE |
(4) for s g
Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14




= feu 7T TR i YgE S9 W 2R 9 i waiihes 3t S S

59 o7 w7 R Fredam =6 30 A = i 72 fad wedt | 9 me = oifa e, 30 g S e e ® 2
T WIEISH, ArEIst SR Tl w1 TR SR g Tre wfEeh A § Sshid 8 Hehal 7 |

(1)

(2) =

(3) =uA

(4)  SATShTHeRdl
Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

= fqu 7T TR i YgE 39 U R 9 o Haiiue 3ted e |

o9 o197 w1 Te=mn =@ 3% WA ki oiifa 7l e wemdt | S8 = =6 wiifa €1, 39 9@ Y e gaai g ?
T WEISH, ArEIet SR Al 1 R SR g T AT A § STshid 81 Hehdl 7 |

G| fadm %’ :

(1) erefd

(2 &4

(3) T@

(4) “HeB
Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

AGHE-THH 1 HH-H1 H ST § 7

(2) FIR - TR

(3) T -9

(4) v - TAsH
Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,




. 3, Option ID :- 63,

« 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

Ty = e I §

EER

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

i T A A1 SR ST ©
(1) W+ 3% = Weig

2) < +3% =R

(3) 3UR + Fek = IUGH

(4) Td+ UFT = T
Options:-

.1, Option ID :- 69,

« 2, Option ID :- 70,

. 3, Option ID :- 71,

- 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

w8 ¥ T wree-gH %
(1) ¥R
) <u-fagw
(3) FR-SR
(4) SRS
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20




gtz v=e 1 fadm o=t & -

(1) @i

(2) g

(3) HhTdA

(4) &9fda
Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78

Subject : GA_Q21-Q30_KOTGTSS
Question ID:- 21
Which of the following lists contains only output devices ?

1 Flat Panel Display Technology, Printers, Optical Character Recogniser, Monitor

3 Monitor, E-ink Display, Printer, Plotter

(1)
(2) Printer, Plotter, Barcode Reader, Monitor
(3)
(4)

Printer, Magnetic Ink Character Recognition, E-inkKDisplay, Plotter

freafafaa 5 & =0 @ 9=t § Saa en3eye fearsy vnfae g2

(1) i e fewmer aie], fier, Sifeser e RarmAEsy, A
(2) T, i, anews ey, AfHie

(3) wHIR, 3-3% few, e\l

4) T, Tmfes 3o wE fmmfem, i-3% ferm, wiw

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22




If an athlete takes ‘t" seconds to go once around the circular path of radius 1’,

What is the athlete’s speed ?

m 2
B 7=
@ =

1 2Tr
O
2
m™mr
2 =5
@ =
i
) 27t
2=
@
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

« 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23




Consider the following statements regarding the launch of Missile Destroyers/Frigates warship of
the Indian Navy :

(A) ‘Surat’ and ‘“Udaygiri’ are two frontline warships of the Indian Navy.
(B) ‘Surat’ is the second stealth frigate of P17A class.
(C) ‘Udaygiri’ is the fourth stealth - guided Missile destroyer of P15B class.

Which of the following statements given above is/are correct ?

(1) y (A) and (B)
(2) y (B) and (C)
(3) Oﬂly (A) and (C)
(4) y (A)

TR T F o Semd/ R Jour F Saaay & aR § Hefafas e w fa=m fwfe)
(A) ‘IR’ 2R ‘STERY aRdE TR 91 enl ggua §
(B) ‘T’ W-17 A it #T gEA wou fiFe ¥
(C) ‘eafird’ Wi-15 B Svit ot < weo Meee fimme T
ST H § FH 9/3 w2 T 5/72
(1) e (A) ST (B)
(2) e (B) 3 (C)
() e (A) 3 (C)
(4) I (A)

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24




Math List - I with List - IT and select the correct answer using the codes given below :

List - I List - II

(Arjuna awardees, 2022) (Sport’s/Games)
(A) Sakshi Kumari (i) Mallakhamb
(B) Nayan Moni Saikia (i) Kabaddi
(C) Sagar Kailas Ovhalkar (iii) Shooting
(D) Elavenil Valarivan (iv) Lawn Bowls
Codes

A) (B (© (D)
(1) 6 G G W)
@ G @) O G
() Gv) O Gi) G
(4) @) (@) @) @

et - 1 R gt - 11 1 foem #ife oi = fee o e o Wi S ge wel 3 o = fRfee

Tt - 1 T - 11

(37 ekt farrat 2022) (Tw)
(A) st FEET @iy HeaEy
(B) = =l Aferan (ii) v FHoEE!
(C) R %™ sfaget (iii) FremraTsit
(D) weafTel arenfier (iv) < d=eH
Fe

(a) (B) (O (D)
1) @ @) @ (@)
(2) @) (v) (@ (i)
3) Gv) (@) @) (@)
(4) (@) (i) (v) (0
Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

« 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25




Among the following authors whose Book/Title was selected for the Sahitya Akademi Award
2022 in English language ?

(1) Kamayani Vashisht
(2) Easterine Kire

(3) Anuraddha Roy
(4) Devdutt Pattanaik

Frfafaa sl 1 | o oEs st J5ae /9 1 3t v § wifee sTereHt TReRR, 2022 & fa g
TE?

(1) = ey

(2) STRTE HN

(3) g

(4) <oE YSTHH
Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Which of the following Indian leaders have served both as the Prime Minister and the Deputy
Prime Minister of the country ?

(1) Jagjivan Ram

(2) Choudhary Charan Singh
(3) LK Gujaral

(4) V.P. Singh

frefafaa ° 9 feg YRdE 3a1 9 <9 & YUHEET a9 SU-TEEEET, gF o ®9 H %W fea g ?
(1) SAwsiEA

(2) = = feg

(3) TR, o0

(4) St foe
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,




« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

Which kind of the forest is most widespread in India ?
(1) Tropical Evergreen Forests

(2) Tropical Deciduous Forests

(3) Mangrove Forests

(4) Thorn Forests

MId H foFg YRR o o7 wailfes stesifed € 2
(1) SoehRfeEl HeeRr 3
(2) SuEHEfESEHl YU o

(3) = FFEafd =
(4) hIeRR T
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
« 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28
Consider the following statementts :

(a) Indian Rupee depreciated to breach the Rupees 80 per dollar mark for the first time in July
2022

(b) The value of Rupee to one dollar at the time of independence was 20

Choose the correct answer from the codes below :

(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct
(3) both (a) and (b) are correct
(4) both (a) and (b) are wrong




Frefafea wu w fo=r fFie

(a) S, 2022 § Ygell SR W™ T991 R 80 ¥IT 9fd Efel o X i IR T 731 |
(b) SISl & THI Uk SfeR o ThTee! T i FHiFd 20 FIC o |

A feu T e | 9E S # = fRfem

(1) (a) W&l & o (b) 7TeTd &

(2) (a) Towd & o (b) W ®

3)  (a) R (b), T T E

4) (a) 1R (b), T TEw

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29

Who appoints the Advocate General of a State in India ?

(1) Chief Justice of the Supreme Court

(2) Chief Justice of the High Court of the concefned state
(3) Governor of the concerned state

(4) The President of India

X H fordl T3 o weifaesa( ugdshe Sieer) =i fgfer o %t § 2
(1) I=IH FERE & & =AM

(2) HafHd T6F % 3= A & G =T

(3) HeHd T F wIIA

(4) R4 < gl

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
- 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30




Whose birthday is celebrated in India as the Farmer’s Day ?
1 Lal Bahadur Shastri
3 Sir Chhotu Ram

(1)
(2) Choudhary Charan Singh
(3)
(4)

Swami Sahajanand Saraswati

TR | forges sfea &1 foram feag & 9 ° == S & 2

(1) el SRIge wrsst
(2) = =R feg
() I

(4) T HESTHE G

Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_KOTGTSS

Question ID:- 31

The given question is based on the following information :
] $ K means ‘] is husband of K’;

] * K means ‘] is mother of K’;

] # K means ‘] is sister of K';

] @ K means ‘J is son of K;

If'F#]@®T$R™*L', then how is ‘F related to ‘R" ?

(1) Mother

(2) Sister

(3) Sister-in-law

(4) Daughter




ez o wv Frfafan st W snufa 21

J$ K A ® ‘], K& ufa &

J*K# &g T, Kl Hmaie’;

JHKF 3T '] KR TR,

JOKH 48 ', K® AT
ACF#]O@TS$R*L &l ‘F, R 4 ford UspR graf+a g ?

(1) =
(2) ==
(3) ot
(4) T
Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

Three statements showing relationships have been given which are followed by two conclusions
(I) and (II). Assuming that the given statements are true;find out which of the conclusions is/are
definitely true.

Statements : (1) F<sM
@) J>D
) M<]
Conclusions : (I) J>F
(I)y D=M
1) Only conclusion (I) is true

Only conclusion (II) is true
Both conclusions (I) and (H) are true

3

e T e T
W= 2
B .

Neither conclusion (I) nor (II) is true

= Hele g At o9 e e o € foees arg < freed (1) @i ) feu e § 19w A ge e e e e
&, 7% 7 wife fw o qrd Fresd ffves we @ w@ 2782

®wAT: (1) F<M
(2) J>D
3 M<]
frent M J>F
) D>M
(1) Faa f=d (1) T&t )
(2) Fae frsmd (1) et 2 |
(3) T (1) iR (1) ST wE F
(4) < Trmsl | 9 A0 off wE & T




Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
- 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

D,E F, G, ], K, L and M are eight friends sitting around a circular table facing towards the centre.
‘K’ is on the immediate right of ‘E’. "L’ is the neighbour of ‘J". “F’ is between ‘]’ and ‘K’. "M’ is on the
immediate left of ‘D', but is not the neighbour of ‘] or “‘G’. What is the position of ‘G’ ?

(1) On the immediate left of ‘E

(2) On the immediate left of ‘D’
(3) Second to the right of ‘'K’
(4) Between ‘E’ and ‘K’

e {3 D, E, F, G, J, K, L 3R M U% g3HR U9 & IRl IR 39& % 1 2R 48 F 92 gL 'K, 'F’
o THIH SR SRR L, T R TS €1 F, ) a9 ‘K S i H B 1 MY, /D3 UeheH 9t iR ' fhg T,
1279 ‘G’ %1 T2l T8 § 1°G # fRafa g2

(1) “E’ % Ushed aril AR

(2) ‘D’ % TREH GRS

(3) ‘K o gl 3R gHL TE T

(4) “E 3K % §H™

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34




Three statements are given followed by three conclusions (I), (IT) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.

Statements :

(1) All bags are purses.
(2) No purse is suitcase.
(3) Some suitcases are containers.

Conclusions :
(I)  No container is purse.
(I) Some containers are purses.
(IIT) No suitcase is bag.

(1)  Only conclusion (III) follows

(2) Only conclusion (I) and (II) follows

(3) Only either conclusion (I) or (II) and (III) follows
(4) All follows

= i e fau o € foms ane = faed (1), (1) iR (1) faw e € 1 S 37 et = el e € =
9 JH=d: 9 9ed | = =6 9 2 3 ol wifse i e ava e e weE § affe s
Freperen /82

hYA :
(1)  Jff S ud §
(2) IS TH Yeohd TE B |
(3) TS YIHH heR T
frent

0) o e ud TE B

() FS e 79 &)

(1) RIS GeohT e 21
(1) ae Frewd (1) Frepe €

(2) Faa Frewd (1) v (1) Frper

(3) had = o Frerd (1) steEn (1) Frerean €, ofw fseed (11n) feraran @
(4) Tt e frepera €

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 1, Option ID : -133

Question ID:- 35




Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Human beings, Teachers, Unmarried




feu T fospredi § @ U9 99 2@ 1 9949 Fifwe s feu 7o a9 % it 9= a9 6 gwiar 8
qeg, 319, Afaanfed

(4)

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
« 3, Option ID :- 139,

- 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Subject : CL_Q36-Q40_KOTGTSS

Question ID:- 36

Which of the following is the default operating system of Microsoft devices ?

(1) Chrome OS
(2) Linux

(3) Windows
(4) 10S




Fr=fafaa 5 9 56 91 aesEwe feany =1 s fewee s faea § 2

(1) I 3 oo
(2) wmET
(3) fa==

(4) T 0 T
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
« 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Four flash drives A, B, C and D have storage capacity 10 PB, 10 GB, 10 ZB, 10 TB respectively
Which of the following holds true w.r.t. the storage capacity of A, B, C and D drives ?

(1) B>=D>C> A
(2) B>D>A>C
(3) A>C>D>B
4 C>A>D>B

TR FAY SESH A, B, C iR D &t %H91: 10 9.5, 10 St &, 10 57 ot 2 10 & o WRS sWa1 €1 A, B, C
R D grge =it Wi oM % ey § Fefofen S smaradr g ?

() B>D>C>A
2) B>D>A>C
(3) A>C>D>B
4 C>A>D>B

Options:-

.1, Option ID :- 145,
- 2, Option ID :- 146,
« 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38




The security of a website can be ensured by :

(1)  if the url begins with ftp

(2) if the url begins with http

(3) if the url begins with https and has the padlock icon before the url
(4) if the url begins with http and ends with .saf

Tersdl SarTEe 1 gUan @i foreer gr gHfe=a fohan s weha € 7

(1) 4 g AR T (wrl), ftp 9 TE 1§

(2) 4 url, http ¥ & &1 @

(3) A url, https ¥ YE BN & 31 370 wrl ¥ 985t TSaieh A5 @
(4) A url, http ¥ T& 2@ & 3R _saf § FAG Bl &

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
« 3, Option ID :- 151,

- 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151

Question ID:- 39

Memory that retain its contents even whef the ‘power is switched off is known as :

(1) Volatile

(2) Non-volatile
(3) Static

(4) Random

8 R fag o 21 aa oft 9 S fawa g (hez) =1 i el 2, @1 weand & ?
(1) #AfeR (FeTeREe)
2) Ir-afeer (A7 FemeEd)

(3) fer(=few)
(4) If=® (=)
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156




Question ID:- 40

Which of the following feature is not included in character formatting in MS-Word ?

(1) Making text-bold

(2) Changing colour of the text
(3) Adjusting space between lines
(4) Changing font of the text

TH TE € H FiEe wHfen H H o favrva wmive v g ?
(1) 2L o Siee Il

(2) L H TR L
(3) WEAl & H" % WY i USSE Bl
(4) R T HiE AZA

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
« 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Subject : UL_Q41-Q50_KOTGTSS
Question ID:- 41

By undertaking social service in commuhity can be ensured.
(1) Teacher student relation

(2) School management relation

(3) Home school relationship
(4)

4)  Teacher Parent relation

e § TS Ya1 % /e | fr=ifeed § | o giafvea fen s wea €2
(1) A fagmedl ey

(2) Terrera sy ey

(3) @ Temme™ Hay

(4) HAAYH-AYYTH ey

)
)

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
- 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42




What do you mean by maturation in child’s growth ?
(1) Only growth

(2) Only development

(3) Itis a growth and development

(4) Matured thinking

qeTh o fasra | afiqgadr &1 aeed fr=nifea 8 9 freg € 2

(1) o Hfs
(2) “haa Tawm
(3) had Hdfg AR faw™
(4) 9Rmea @
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
« 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

What programs in schools would you suggest to address furbulance in adolescents ?
(1) Adolescence program

(2) Adolescence awareness program

(3) Adolescence counselling program
(4)

4 Adolescence health education pfogram

TR aTershi 1 =rege’ g1 & % foiu 3naeh faem o fomnera § &iF 91 Sy =Sam SE =ieg ?

(1) TervirTereen wri®y

(2) Tepeirraeen S HE®A
(3)  TeReTRTaEeT THel FEH

(4) Tereirresen e foan wrfws

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44




The Boys and Girls in adolescent stage expect in school.
(1) Co-operation

(2) Sympathy
(3) Empathy
(4) Emotional support

Tersirarzen o oo =R =nfererd famme o frdent 3mian w@d € 2

(1) w&am

(2) weryfa

(3) Wi

(4)  WTEATCHE AN
Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 1, Option ID : -173

Question ID:- 45

The social and emotional development is a key factor fof :
(1) Growth of child at teenage

(2) Healthy growth of child at formative stage

(3) Growth of child at adolescence

(4) For healthy growth of adult

SR SR et T faeitad o 9 fheh fay aeceyul e 82
(1) TS (TEmeE) § sl & fawd

(2) RS =AU H S H e famm
(3) fersirrereen # srers =1 fashr
(4) Ure T wey foem

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46




Setting self as a role model, what would you ensure ?
(1) Moral values

(2) Cultural values

(3) Democratic values
(4)

4 Instrumental values

= & oTIeY Sfad % ¥ § wed w0 & weaeey Freited § | #r giafvem g 2
(1) e T

(2) wiEHlaE I

(3) AR e

(4) -SRI A

Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,

« 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181

Question ID:- 47

Which one of the following could be a major cause of Juvenile delinquency ?
(1) Poor classroom environment
Defective curriculum

(2)
(3) Poor socio Economic status
(4) Parents attitude

FoReTR sTaegfa 1 g FROrER R gwar § 2

(1) =& H4 F G gRie

(2) et o

(3) EUE "rArfs At Tefa

(4) AfavmEEs =t e
Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48




Education is the creation of ‘Sound mind in a sound body” viewed by :

(1) Spenser
(2) Aristotle
(3) Rousseau
(4) Plato

Fr=ifra § 4 former gfes § & ey iR | @y afagss &1 fam g2
(1)
(2
(3
(

W
TR
=4
4) w2

)
)
)

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 1, Option ID : -189

Question ID:- 49

What is significance of study tour in School Education'?
(1) Breaks monotony

(2) Promotes collaborative attitude
(3) Entertainment value
(4)  Fulfills the project work requirement

e fosn o seaad <R P g € ?

(1) T8 UHiqdl 1 & qUT Sl 7 |

(2) 398 Fewifiaras vl 1 sgen fHed 2

(3) THH AR Heed T

(4) =HH S ki 3Tven gfd 92 o feun s g
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50




Investigatory projects given to students comes under :
(1) Experiential Learning

(2) Activity based Learning

(3) Classical Learning

(4) Cognitive Learning

Ferganfelai =ht st wftErs fFeifrd # | formes sfaria el € 2

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Subject : UTL_Q51-Q65_KOTGTSS
Question ID:- 51

Skill development is associated with :
(1) Affective Domain

(2) Psychomotor Domain
(3) Cognitive Domain
(4) Emotional Domain

e Teremre Feifera & 9§ fred geafba €2

(1) wTEcHS &

(2) HATfST &

(3) GIAHTHE &3

(4)  VTEATCHS &1
Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52




The “stimulus-response’ is not associated with
(1) Skinner’s theory of learning

(2) Sharrif Kentril learning theory

(3) Thorndike theory of learning
(4)

4 Pavlov’s conditioning theory

"SegiTA-srfera Freiferd § | fored Herg 76l € 7

(1) Ferr =1 aifer fagia

(2) SHIw-hiza = sifm faga

(3) 9FeEF w ATH g

(4) TEEE H1 AHeH THgia
Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
- 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

The oldest system of philosophy is .
(1) Idealism

(2) Realism

(3) Naturalism

(4) Pragmatism

29 & JrEaY YIed §

1) EYER

(2) TendaTe

(3) wHfaaw

(4) SUHIATEER
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,

- 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54




‘Pragmatism’ is closely aligned with

(1) Existentialism
(2) Marxism

(3) Naturalism
(4) Realism

‘syEifiTaE’ feited o 9 fFed 8T ¥9 9 989S © 2

(1) sAfeceEmE

(2) HEHAR

(3) YHfdaTg

(4) FurefETE
Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
« 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

What is “TLM" ?

(1) Teaching Learning Material
(2) Teaching Learning Method

(3) Technical Learning Material
(4)

4 Theory Learning Material

SuATHFE?

(1) 2ifem & wefaa
(2) 2ifen @t A
(3) <feFrerat @i Aue
(4) @Rl @fin wefa
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56




The learner develops knowledge by building blocks of information could be attributed to :
(1) Experimentalism
Constructivism

4

(2)
(3) Connectivism
(4) Behaviourism

=1E SAferToERal g o A ot 9w (fafedn =tw) & mem 3 99§ sfvafs a2 § 138 #=n Fa
ST HHal g ?

(1) 9arER

(2) TEAER

(3) HYFER

(4) ATRRAR
Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

What do you understand by “Learning” ?
(1) Gaining knowledge

(2) Achieving high academic excellence
(3) Positive altered behaviour
(4) Manipulation of circumstances

‘arferme § STaeRT P A § 2

(1) FEwEA

(2) T IHEHF IFwal I FHAT
(3) WHNIHF qiiafdd =eer

(4) uftfeafa =1 soEsH

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
- 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58




Non threatening and supportive classroom environment leads to :
(1) Tension free learning

(2) Joytul learning

(3) Effective learning
(4)

Informal learning

THeql el N WERIed I TEHE e BF & hera®wy Eifthd § 9 91 81 § 2

(2) AU sAftrm
(3) wwiEl AferH

(4) e safrTy
Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
- 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

The school garden with lotus pond could be the best,example of ;
(1) Living corner

(2) Learning centre
(3) Aesthetic centre
(4) Teaching corner

FHA o o Y 9y e g Taenerd 1 A e H 8 fFEe Sehte 330l 8 Hehdl § ?

(1) fafEm &L

(2) aferma W

(3) Hied Fg

(4) AT Fg
Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
- 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 1, Option ID : -233

Question ID:- 60




What is hidden curriculum ?

(1) The curriculum prescribed in leisure period
(2) The curriculum of SUPW

(3) Inculcating unwritten values
(4)

Developments of beliefs

ST qreT=l 1§ 7
(1) 31EeRr =i safty o fafed ae=
(2) THY Yl T I =
(3) #Aferfiad gea fasfad e
(4) HFAST A faew
Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
- 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 2, Option ID : -238

Question ID:- 61

What should be the important characteristics featuresoficirriculum ?
(1) Flexibility

2 Learning with understanding

(2)
(3) Futuristic vision
(4)

4)  Scope for leisure activities

qresT=El it Heeyyl feer =1 e =y ?
(1) o=

(2) THHA & Y 3ETH

(3) wfeerma gfie

(4)  STEERIY ok HEAHAN] i [SEA
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
- 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62




In present circumstances in classroom how do you ensure enhanced learning ?
(1) Model charts
Activity based teaching

(2)
(3) Use of group discussion method
(4) Modern ICT tools

aqqr ufifeafd § emq e § afta sifrm w9 giafeea w32
(1) Hied =R & Aead 4§

(2) Tifafafy/=wrEwery snenfa fasm

(3) THEH famst faft =1 wdm s

(4) omyfTeR o1 | FF ST

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
« 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

What is the significance of evaluation in classroom ?
(1) to measure the learning levels

(2) to find out weak areas of students

(3) remediation and counselling

(4) to gauge the ability of understariding

HN HY H Yok il F Wl § 2
(1) e & = 9O

(2) Toente=i o geiel 9atl o1 g1 e
(3) HHEA-GHEE X W

(4) HHS R AT HT Gid HA
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
- 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64




The informal learning of child takes place more in

(1)  School

(2) Home

(3) Library

(4) Playground

A% o1 SR e feifea § § wel sifues g g2

(1) fa=me

(2) T®

(3) YEHEE

(4) @ FHHEA
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Normally the schools tend to be biased in following activity.
(1)  Self assessment of the school

(2) Assessment of classroom teaching
(3) Assessment of learning by children
(4) Assessment of overall developmént

e Freifed 0 | fra FEigan J fagem 4 g w3 & ggid 2l § 2
(1) TaEme™ = -1

(2) e HE H AEH F HHEH

(3) SIcTshi BRI HAfERTH 1 SATHEAA

(4) |HY fam™E 1 Aehed

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_KOTGTSS

Question ID:- 66




The school could be best agency.
(1) Powerful learning centre

(2) Powerful socialising agency

(3) Activity centre
(4)

4 Knowledge transmitter

Termem™ fA=ifra § 9 forg w9 o ety iR fag & gwar &2
(1) = Al %=

(2)  HEEHR TSR0 Tl
(3) FHEFAY Fg
(4) I HUTE

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
« 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

What is Autism ?

(1) Brain development disability
(2)  Muscular disorder

(3) Sensory disorder

(4) Auditory disorder

‘fifes’ B ?
(1) wfer=s foswm § gafua fasr
(2) UeiE famr
(3) HeR! forer
(4) gau fasr
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68




What is Dyscalicula ?

(1)
(2)
(3)
(4)

Inability to speak
Inability to write
Inability to read

Inability to identify the numbers

‘fechfager’ %7

(1) ®reH | 23ewdl
(2) oA H el
(3) WS H siEHa
(4)

Options:-

.1, Option ID :- 269,

« 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

270,
271,
272,

&N &l UgdH HiA H &

Answer Given:- 4, Option ID : -272

Question ID:- 69

What is the minimum percentage of disability prescribed to ‘Divyang’ to avail benefits from
Government ?

(1) 25%
2 40%
3) 35%
(4) 50%

R FgfaHsi &1 3UNrT i o foe ‘ fesrsm ' | =gAan feder fH:erre &1 8 siferd 2
1) 25%
2) 40%
3) 35%
4 50%

e T i T ot T

Options:-

.1, Option ID :- 273,
274,
275,

276,
1, Option ID :

« 2, Option ID :-
« 3, Option ID :-

. 4, Option ID :-

Answer Given:- -273

Question ID:- 70




How will you Identify a child in class room suffering from mental illness ?
(1) Over playing

(2) Aggression
(3) Extrovert
(4) Isolating from crowd

Y el Fe1 H AFIEE T F Gifed e w1 UewE HY Sl 2

(1) =gad s T

(2) eImRmEE T

(3) dfedeEt

(4) TS W YUF WA F W
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71

What is the role of Yoga and Sports in School Education ?
(1) Develops the value of co-operation

(2) Sense of belongingness

(3) Takes care of fitness of body and mind

(4)

4 Relaxation of mind

e foen 4 A sik @@ =t = s € 2

(1) =98 Tear v fasfad g 7

(2) THY Y HT WG 3T B 7 |

(3) TTH TheRa®y YRR 3R wfeask SHi 1 faem g g1
(4) HEfEw fagifa

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72




Which on
(1) Aut

4

Frefefed

e of the following leadership style is criticized ?
ocratic Leadership

(2) Democratic Leadership
(3) Servant Leadership
(4) Transformational Leadership

T F BrY R w1 Tgedie! S STl i S § 2

(1) ==sEl Agd

(2) @
(3
(4

Options:-
.1, Option ID

)
) ARt g
) EER g

« 2, Option ID :-
« 3, Option ID :-

« 4, Option ID :-
Answer Given:-

dqifsa Aged

:- 285,
286,
287,

288,
3, Option ID : -287

Question ID:-

2

Options:-
.1, Option ID :

. 4, Option ID

« 2, Option ID :-
« 3, Option ID :-

73

What is the main objective of Institutional planning ?
(1) To provide adequate funds

(2) Optimum utilization of existing resources
(3) To conduct workshops and seminars

(4) To develop strategy for academi€ excellence
P TS = o SR § Y

(1) Tare g=afen &M

(2) TommE dEEEl 1 gan 3TN
(3) e SR HiHAR Heferd
(4) STeRIETHE Iehwedl st TEITG fershfad s

- 289,
290,
291,
- 292,

Answer Given:- 2, Option ID : -290

Question ID:- 74




What is the essential requirement of good time table in school ?

(1) Flexibility

(2) Enough scope for exam schedule

(3) Enough scope for leisure activity

(4) To cater to the needs of teachers, students and other stakeholder

e § 399 999 9RO & SAfEr savged 7 2

(1) =

(2) e FwEET AT TS

(3) TG o T HTA hl T TSEW

(4) sreeR—TaenieEl IR s feaqenfeal =1 staeashal gu wa

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
« 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 1, Option ID : -293

Question ID:- 75

What is the significance of annual calender in school ?
(1) All outdoor activities can be planned in adyéance

(2) All types of examinations can be conducted, systematically
(3) All school programs can be executed withease
(4) School vacation can be plannedsin advance

forrmem & aifife Feiet &1 FnHgE © 2

(1) |t afedn nfafafust wea 9 f=Eifsa =1 st awd €

(2) =Hafed w0 H 9 YR 1 90 ArEifed S g |
(3) foemerm & |eft wrdeEy GradrgEs HEif=e e S g €
(4) TFel H P2 (STIHW) FASH Ted § AR HT S b F

2

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76




The following ensures school-industry relation :
(1) Vocational training program

(2) Organizing seminars

(3) Organizing industry visit by the school
(4)

Orientation programs

freifera & 3 forgd Taemera seiv =1 gey gfafvea g &2
(1) =Hagia gioemor FeEEy

(2) WHR F SEEE
(3) TorneE gRI 3TN SFTd % S SR A HEA
(4) uftEe FHrwH

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
« 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

"Education is complete living” described by :

(1) Frobel
(2) Tagore
(3) Dewey
(4) Spenser

Tr=ifera # @ fermremt srem & o e qoi Siter faig €71

(1) e
(2) R
(3) =dl
(4) FE
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78




The newly proposed design of school curriculum is :
(1) 4+3+4+4

(2) 5+3+3+4

(3) 10+2+2+]1

(4 5+2+3+5

Taemert gre=at o 9 yeafad sifieey #2082
(1) 4+3+4+4
(2) 5+3+3+4
(3) 10+2+2+1
(4) 5+2+3+5

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
- 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

As per RTE Act, 2009 what are the minimum working hours prescribed for a teacher in a week ?
(1) 36

2) 33
(3) 45
4) 50

Torer =1 sifeepr stfafam, 2009 3 $THR 3149 & fou t |wr # <A fehad &l e fyifa for
T E?

(1) 36
(2) 33
(3) 45
(4) 50

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
- 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80




The NCF 2005, suggested with reference to learning.
(1) Sports education

(2) Self-reliance and dignity of individual

(3) Inclusive education

(4) Teachers centric to child centric

T gl ' ¥ Afurm % dewl § frifera § 9 ferwen gema femn mn any
(1) &« faen

(2) =t #t are-fAiar o Wi (wEfyme)
(3) wHToE faan

(4) ST HiEd W A Hi=d

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
« 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : SS_Q81-Q180_KOTGTSS

Question ID:- 81

French revolution led to :

(i) Uniform laws for all citizens within its territory
(i) Abolition of internal customs and duties

(iii) Uniform systems of weights and measure

(iv) Encouragement of regional dialects

Select the correct answer using the code given below .

Code :

(1) (i) (i) and (ii)
(2) (iv) only

(3) (iii) and (iv) only
(4) (i) only




TRIEE Bhifd A

(i) I Y- H @A el B AR % fou S9E S ")
(i) Aafts sAraE- e gew e # fau

(iii) W 1 YA h Teh HHM SHaEI A i |

(iv) &5 snferal st dieatfed femar

e feu T e o1 JEM L HE I G
e :
(1) (), (i) ¥ (i)
(2) FHFA (iv)
(3) A (iii) A (iv)
(4) =4 (i)
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
- 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 82

You are travelling to the areas which had a revolution in-1789, faced storming of Bastille and had
the first clear articulation of Nationalism. In whi¢h country are you actually travelling ?
(1) England

(2) Italy
(3) France
(4) Germany

1Y ek U 91 T A R @ § T 1789 F whifa g off, g ardier 1 e S oiR < agae i weelt
T Al g2 1 oY e # FEl F A W 2

(1) FiE
(2) g
(3) W
(4) A
Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
- 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83




Match List I with List II and select answer using the code given below the lists :

List I List 11
(Philosophers) (Book)
(A) John Locke (i)  The spirit of the laws
(B) Jean Jacques Rousseau (i) Two treatise of Government
(C) Montesquieu (i) Encyclopedia
(D) Denis Diderot (iv) Social Contract
(A) B © (@)
1 @ @ @) @
(2) (@) (@v) @ @)
3) @ (v) (D) @
4) (v) @) @ @

eit-1 3R Feit-11 %1 ferd Hifs i gfadi & i f5u 70 %2 & w&b@m &1 g8t 3@ 910
-1 Tqei-11

(A) S elfieh (i) = fefE &1 g @S
(B) AT STk &4l (i) 2 SIeEss A e
(C) wiwr] (iii)  THTERAS
(D) ef fasd (iv) wIfSR Ty
(A) (B) © (D)
1 O @) Gv) (i)
2 @ @) @ )
3) (@ (v) (D) ()
4 Gv) (@) @ @)
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

Think about following statements and choose the correct answer with the help of given codes.

Statement (I) : Simon Commission was a legal commission which was brought to India to bring
economic reforms.

Statement (II) : All the members of Simon Commission were Britishers.
Code :

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true




7wl T faar i 3iR e 1 WA i Fel S o =9E |
HUA (1) : WEHA HHYA THh qufTeh A o fod wia # facia gum = few <7 % foro @mn @ o)
A (II) @ TEHA FHHIIA H TN Teed s 9|

(1) R (1) 2T /A (I1) ST T F |
(2) R (1) IR HUT (1) TH TTT 2 |
(3) TR (1) T& & W Y (I1) Tod 1
(4) U (1) ToTd © T Y (I1) HE B

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85

Consider the following statements regarding Dandi March and ¢hoosé the correct answer with
the help of the code :

Statement (I) : This March was done from Dandi to Sabarmati-Coast.
Statement (II) : The civil disobedience movement started with the Dandi March.
Code :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement(1l) is\false

(4) Statement (I) is false but Statemeént (1I) is true

Tiet v % wag § e el @ AR o SR Fe wi veg | W S A g e
HYA (1) : I8 HE qiel H HEHd! 9 e R @
HYA (I1) : WiaTa HG A 1 YEId ST 7 H & |

E TR

(1) e (I) 3iR /e (1) SH 9& F)
(2) YA (I) IR HeA (1) SH Tod 2
(3) TR (I) TE & T HYA (II) Tod 2
(4) /U (I) oA T UG HAT (1) HE B

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86




Below are two statements, one of them is Assertion (A) and the other is Reason (R). Find the
correct answer with the help of given codes.

Assertion (A) : Gandhiji participated in Second Round Table conference.
Reason (R) : Gandhi-Irwin Pact was done on 5 March, 1931.

Code :

(1)  (A) and (R) both are true and (R) is the correct explanation of (A)

2)  (A) and (R) both are true but (R) is not the correct explanation of (A)
3) (A) is true but (R) is false

4) (A) is false but (R) is true

(
(
(
1 &1 o feu o ¥ | v A iR (A) TE TR 1 SRIOT (R) el T 15U gU e gR HEl SR
T |

AL (A) @ TS A fadta Tirers wwter 5 wm fomn

HRUT (R) : -3 a2 5 A 1931 1 foam 7

(1) afumRe (A) 3R ®IOT (R) SF1 §& § 3T (R), (A) & F& AEAE |
(2) oMYA (A) 3R /IO (R) SH1 T § T (R), (A) i HE SE 78 T
(3) IATHRYT (A) HEI € I T (R) Td 8

(4) IHYT (A) T § T HEVT (R) T B

Options:-

.1, Option ID :- 341,
. 2, Option ID :- 342,
« 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Consider the following statements about Poona pact and choose the correct option.
Statement (I) : This pact was made between Mahatma Gandhi and Dr. Ambedkar in 1932.

Statement (II) : Under this pact, separate electorates were arranged for the Depressed classes in
the Provincial and Central legislative councils.

(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.




1 Yae & HeY | e el o famm e SR W@ fowed &1 g i)

HUA (1) : TS T Hewew e 3R T sTegeH & oiw 1932 § gaT an|

A (II) @ 39 U o ded Widid Ud s faurd aitug § gfea ol o fe gk fHar=m o1 s3ee &1 5|
(1) R (1) IR R (1) <1 98 €1

(2) R (1) IR R (1) SH TTd £ |

(3) YA () T2 T T A (II) Terd 5

(4) THUT (I) A B U HAT (1) TE T

Options:-

.1, Option ID :- 345,

. 2, Option ID :- 346,

. 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Arrange the following in chronological order :

(a) Champaran Satyagraha

(b) Kheda Satyagraha

(c) Ahmedabad Cotton mill Satyagraha

(d) Mahatma Gandhi returnes to India from South Africa
Choose the correct answer from the option given below

D (®) @, (©, (@
(2 (d), (@), (b),(9)
(3 (), (), @),
(4)  (d), @ ©,(®)

frefafaa 1 Frersiaes w9 Heaafe w1
(a) I HEWE

(b) TS TR

(c) STEHSETE il huel T

(d) TTE T fior eTwreRT ¥ WA arfiy 3y

9 e T feredi @ T SRR |
(D (@), (@), ©,(a)

(2) (@), @), (b),(0)

3) (@), (b), (@), (c)

(4) (), @), (), (b)

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,
« 4, Option ID :- 352,




Answer Given:- 3, Option ID : -351

Question ID:- 89

Consider the following statements regarding the impact of first world war on India.

(i) TItled to a huge increase in defence expenditure

(ii) Through the war years prices remained stable

(iii) Indian soldiers were recruited into the army by the process of forced recruitment
Which of the following statements given below is/are correct ?

(1) (i) and (ii)
(2) (i) and (iii)
(3) (i) and (iii)
(4) (i) only

g forgees =1 YRd W U dred 9@l o Hey H fFrefafaa e w fa=ar #ifsu)
() wi=EHadgiEgsl

(i) TG % SN aegell i Hmd e W

(iii) SFERA Wl ol WA gr wRdra fqaifei st &1 | wol foram e

SR H ¥ HH-GU/HA-F H Tl T 2

(1) @) R (i)
(2 () 3R (i)
(3) (i) 3R (i)
(4) I (i)
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

Consider the following statements about colonialism in India.

Statement (I) : Each social class and group felt the effects of colonialism equally.
Statement (II) : The notion of freedom were not always the same for each class and group.
Which of the following statement given below is/are correct ?

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but statement (II) is true




R H IufavEe & Hed § frefafag sl w faar &

HYUF (1) : & GRS o 3T Y T IUfRENe w1 TR T Sy of |

WA (11) : Sufaw fadedt stidieri o Tadsen & wrem 8t ot iR wyg & for fis &)
IR B H HE-GU/HA-T FIT Tal /8?2

(1) R (1) 3R Y (1) A T& &1

(2) RO (1) IR R (1) AT ToTd £
(3) YA (I) TEI & T e (ID) 7o ©
(4) /YA (I) ToTd © TG R (1) HEl B
Options:-

.1, Option ID :- 357,

« 2, Option ID :- 358,

. 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Question ID:- 91

Which of the following statements about Balkans region is/are correct ?
(i)  The Balkans is a region located in nothern Europe.

(ii) The inhabitants of the region are called Slavs

(iii) The region is noted for its geographical and ethnic variation.

aleha 49 & ey § Frefafadsam © famr w1 5wl § SR-ar/an-8 s g2 878 2
(i) eRA 30 gAY § eraferd &9 2

(i) 39 &= o enfaai =1 T YR San o |

(iii) =% & rifass IR S faea F fae ufag o

(1) @) ¥R (i)
(2) (i) 3 (iii)
(3) e (i)
(4) e (i)
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92




Given below are two statements; one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : European Artists in the eighteenth and nineteenth centuries portrayed nation as
male figures.

Reason (R) : Artists personified the nation in the above period.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A)is false but (R) is true

9 < gaer fau T § | ue AR (A) el TR § SR 5 i SRIT (R) FEl T
IR (A) : EREdl IR FEHigEl w9 H AT FARR 7 W I TEY € § WA
/T (R) : IR HA B FAHERI A UL H AHE R faman

IR SHT FeE & e H e § we-m wd w2

(1) (A) 3R (R) SFI W&l € T (R), (A) I Gt = 21

(2) (A) 3 (R) T T & TG (R), (A) T TE =T 7L T
(3) (A) 5@ € W (R) 7T B

(4) (A) TeTd § 9 (R) el 1

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
« 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Given below are two statements; one is labelled as Assertion (A) and the other is labelled as Reason

(R).
Assertion (A) : The formation of “United Kingdom of Great Britain” happened in 1707.
Reason (R) : An “Act of Union” came into effect between England and Scotland.

In the context of the above statements, which of the following is correct ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)

2)  (A) and (R) both are true but (R) is not the correct explanation of (A)
3) (A)is true but (R) is false

(
(
(4) (A) is false but (R) is true




9 €1 a5 feu u ¥ 1 U @ iR (A) SR TR I RUT (R) el T T
sfyeRed (A) : ‘gAReE fohven oiiE U2 faed’ = 7T 1707 H geT|

T (R) : Fele S Thiceis & g ‘UFe 3% I & @)

IR SHi gFae % Hed # frefafad § $F-m w8 )

(1) (A) 3R (R) 3 HEl € 3R (R), (A) I HE AW HA & |
(2) (A) 3T (R) S TE T UG (R), (A) Ft TE AN TE B T
(3) (A) W& & T (R) e €

(4) (A) TeTd € 9% (R) HEl €

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94

Which of the following historical figures contributed to the unification of Italy:
(1)  Giuseppe Mazzini

(i) Cavour

(ii1) Garibaldi

(iv) Louis Phillippe

Code :

(i) gEY Afeet
(i) =TgY

(i) Tsiee]
(iv) =9 fhfad
T

(1) (@), (), (iv)
(2) (i), (iii), (iv)
(3) (i), (iii), (iv)
(4) (i), (i), (iii)
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,




. 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

Given below are two statements :

Statement (I) : Zollverein was a customs union of the German people, which was formed in
1834 at the initiative of Prussia.

Statement (II) : The aim of the Zollverein was to promote economic nationalism in Germany.
In light of the above statements, choose the correct answer from the option given below :

(1) Both Statement (I) and Statement (II) are correct

2) Both Statement (I) and Statement (II) are incorrect

3) Statement (I) is correct but Statement (II) is incorrect

4)  Statement (I) is incorrect but Statement (II) is correct

(
(
(
= &1 e feu T E

HYA (1) : Seausd SHA ANl 1 Tk Yo |9 o1 TS/ 1834 H Wem =i 9eet T wAfid foran 7 |

A (1) : SiedUsd & TSH il 394 AT H A1 WZamg =l Uiewied HE o1
IR FUA & Feo J 9 fTu 7 faedi § 9 9t 3T =9 H A

(1) =R (1) 2T e (1) ST T ¥ |
(2) <RI (1) 3R HAA (1) SHT Terd
(3) R (1) Tel & Wg HAA (1) Tod
(4) R (1) TeTd © I R (I1) FET 2 |

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

- 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Given below are two statements :

Statement (I) : For the new middle class, liberalism stood for the freedom for the individual and
equality of all before the law in 19™ century Europe.

Statement (II) : Liberalism emphasised the concept of autocracy and clerical privileges.

In light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4)

4)  Statement (I) is incorrect but Statement (II) is correct




= < e feg T E

HU (1) : AU HeAm 91 & foaw 19 o w6 § 239 § 3SRawR # gaad o sAfE & A sTsie o) e 6
THEE GO |

HUT (1) : 3RAE g v AR wiedt a7 o fosronferenmi T TeTae o1 qaTerR o |

I FUAl & Hel H T fau T fasedi § ¥ W S A =

(1) HIA (1) 2w (11) SHT Tt T )
(2) A (I) T wmYT (1) EE e £
(3) YA (I) T2 & 9 HYA (1) TAd 2|
(4) AT (1) T & T HY (1) TRl 2|

Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
« 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

Consider the following statements and choose the correct option.

Statement (I) : Revolution of July 1830 installed a constitutional monarchy in France.
Statement (II) : The Bourbon Kings had been restored tospower after July 1830 revolution.
(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are\false.

(3) Statement (I) is true but Statement (II) are false.

(4) Statement (I) is false but Statement (Il) is true.

frfafea wel W faar S R 9e1 fameq &1 979 FL
HUA (1) : TR 1830 it WIEHT Shifd = Wiy § Haenfes st it T A
HA (1) : ST 1830 =l TRIHTET hifd = &l TSt 1 T Rl GeeAifaa fzm 1

(1) e (I) 2R YA (1) 21 9e €1
(2) HIA (1) 3 HA (1) S TAd @ |
(3) YA () T& T 9 e (1) Terd T
(4) HYA (I) A T U BT (1) T 2|

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98




In which of the following cities was the Khilafat committee formed ?

(1) Calcutta
(2) Delhi
(3) Patna
(4) Bombay

frafafaa ° forg et 5 faesd wfafa @ we foran = on?

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
« 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

Consider the following pairs :
Historical Events
(i) Convocation of Estates General
(i) France becomes a republic
(iii) Napoleon got defeated at waterlgo

Important Dates
179\
1792
1816

Which of the pairs given above is/are cotrectly matched ?

(1) (i) and (i)

(2) (i) only

(3) (i) and (iii)

(4) (iii) only

frefafea g @ faar &)
( U weam)

SRR e § - g g €2
1 (i) 3 (i
(2) I (ii)
(3) (i) SR (i)
(4) HIA (iii)

(wemayut faferar)
1791
1792

1816




Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
- 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Given below are two statements :

Statement (I) : Liberalism was some of the important political tradition of Nineteenth Century,
which opposed the uncontrolled power of dynastic rulers and advocated equality
of all religions.

Statement (II) : Liberalism opposed the privileges of great land owners and wealthy
factory owners.

In the light of above statements. Choose the correct answer from the option given below.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true, but Statement (II) is false
(4) Statement (I) is false, but Statement (II) is true

= €1 e feg T E

HUT (I) : STRATS SAFE] Iarea! & Heaqul Tsrifaes sugsii 5.0 a1 fomm g9 snenfia wrem saeen &
forrer fora qen @oft Al & F9Far it aehTcT ki

HA (II) : 3IRATE 9 SH Rl i o= sgrmfai nare fwdt off ae o fagrafesri & faers o |

ITE FUAl &k Hae ¥ A fou gu fasedl §A FehEw % gE Hi

(1) e (1) 3R e (1) S 98 €|
(2) U (I) T wmIT (1) <E Hera D
(3) THYUA (1) TE € Tg e (1) Tord T
(4) AT (1) TAd & T HY (1) FRI 2|

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Question ID:- 101




Think about the following statements related to Non-Cooperation Movement and choose the correct
answer from given options.

Statement (I) : This was the first movement for attaining Swaraj (Self-rule).
Statement (II) : This movement opposed Khilafat Movement.
(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

AN HAidiad o Hay # frefafad werl W four =t w@ = fau 1o fasedi s wim o= 98 3w g9
HUF (1) : TS TS & 29 Y TSI T Ugen Ao o |
HYA (1) : TH eie A fgenda =1 fate fean

(1) e (1) 3R e (1) < 9a €
(2) I (1) AR HLY (1) A TTd
(3) TR () T& & I e (1) Tad 1
(4) U (I) A § U R (II) TE T

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
- 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

Consider the following statements about Maasai communities and select the correct answer using
the code below :

Statement (I) : Maasai are traditionally nomadic and pastoral people.

Statement (II) : They live primarily in west Africa with high rainfall.

(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

T T % G99 H e e & ufeu ¢ 9 fEu e e w5 v o ue s g
HUA (1) : THE TR 9 § YHq IR TRaRd 99EE T
WY (1) : I8 U= ThienT * i o arel & § W 2

(1) e (1) 3R wmem (1) < 9a &1
(2) HIA (1) AR HUA (1) AT Td §
(3) YA () U& T T e (1) T T
(4) R (I) TTETd © UG RO (1) TE T




Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
- 3, Option ID :- 407,

« 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

Consider the following statements about socialist society and select the correct answer using the
code below.

(i) It promotes nationalization of banks and Industries.
(ii) It believes in centralised planning.
(iii) It promotes private property and profits.

(1) Only (i) is true

(2) Onlv (i) and (ii) are true
(3) Only (iii) is true

(4) (i), (ii) and (iii) are true

HETSTETE WA % Hay H fefatad e w faer R w@ e R g s wEn s HE ST g
(i) T i iR SN o TLH Y e S |

(ii) IE Fargd fEem 7 favam g1

(iii) e Feft Tufa R g =t s @ ¥

(1) (i) T T
(2) e (i) SR (i) & 2
(3) o (iii) TE B I
(4) (i), (@) SR (iif) T =
Options:-
.1, Option ID :- 409,
- 2, Option ID :- 410,
. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 1, Option ID : -409

Question ID:- 104

The river Indrawati flows east to west. Maria, Dhurwas and Halbas communities live here. The
central part is a plateau and to its south is the Godavari plain. The name of the place is :

(1) Bastar

(2) Nagpur
(3) Raipur
(4) RajnandGaon




TeaTad! TEt 59 A % IRE | uivem wedt € 1 7Rl A, gen, gorsn e o snfeardt T e e ¥
TEHT Ferd Y ger § i gfero A deEd o der ¥ 13w A AW R

(1) «=%K

(2) rTE

(3) TIX

(4) TSHE
Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
- 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Question ID:- 105

Who among the following was/were socialist thinker
(1) Robert Owen

(i) Louis Blanc

(iii) Friedrich Engels

(iv) Adam Smith

Select the correct answer using the code given :

(1) (1), (i) and (iii)

(2) (i) and (w) only

(3) (i), (ii) and (iv)

(4) (i) only

Frefafea § <9 gasEre fa=mes 42
(i) T2 siEd

(i) =9 sAh

(i) el el

(iv) WeH foy

1= U 70 % 1 9E FFE IR G
(1) (i), (i) 3 (i)

(2) HFE (iii) AR (iv)

(3) (), (i) 3R (iv)

(4) HEA (iii)
Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
« 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419




Question ID:- 106

The Consumer Protection Act 1986 ensures following rights to consumers in India.
(i) Right to choice

(i) Right to safety

(iii) Right to equality

(iv) Right to privacy

(1) (i) and (ii)
(2) (i) and (iii)
(3) (iii) and (iv)
(4) (i) and (iv)

IsirerT GRen sAfafaad, 1986 vRdra Susirredi 1 e sifreR e wea #
(i) = w1 AR
(i)  FI&I 1 AR
(iii) FHFAT T AfErHR
(iv) TAsian =1 sAfyer

(1) () R (i)
(2) (i) SR (i)
(3) (iii) ¥R (iv)
(4) (i) 3R (iv)
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

Markets will not work in a fair manner if :
(1) Producers are many

(2) Producers are not powerful

(3) Consumers purchase in small amount
(4

True information is passed to consumers

Wﬁﬂﬂﬂ%ﬁmq—iﬁm,qﬁ:
(1) 3R 31 8 )

(2) UGS AfwROTed 7€ w |

(3) YN FH HE H TEEA A T
(4) T SER SUsERE # < S ¥

Options:-




.1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,

« 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108

Given below are two statements. Choose the correct option from below :

Statement (I) : MNCs have been a major force in the globalisation process connecting distant
regions of the world.

Statement (II) : Integration of production and integration of markets is a key idea behind
understanding the process of globalisation and its impact.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

19 21 e fou e ) 9 fau T el | el fasmed w1 w9 =

®mY (1) : Tava 3 g arll #1 Sligarelt Avee s wiwa § sganda sutE i g yfrw @)

A (1) : AL =1 Yihal U T8 U6l ] HHA H U6 hrUehiehyl 3iR SIS Sl Tehihl U
HEEqUl FRT E |

(1)  ReE (1) 2R e (1) SH T8 F |
(2)  HIA (1) R HAT (1) TH TeTd 2 |
(3) R (I) WEl & T wAF (1) T B
(4) R (I) T T TG HYA (1) TE R

Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

Given below are two statements. Choose the correct option from below :
Statement (I) : The Reserve Bank of India supervises the functioning of formal sources of loans.

Statement (II) : Compared to the informal lenders, most of the formal lenders charge a much
higher interest on loans.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true




== &1 %A feu Tu B ) e fou T seaedi § | wel fashey o1 = #

HYA (1) : g s S il & =i Sidil w1 FEe W TSR W6 ¢ |

WA (1) : NI RURIAISA! 1 Gl § SFAI=eh & o SATeal RNl el SAfeeh =S gy Hid
gl

(1) e (I) 2 s (1) SHf @8 21
(2) YA (1) S HYA (1) S Terd & |
(3) TRAT (I) Tl & W AT (1) TTerd € |
(4) Y (1) A T UG WA (I1) TE T

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

Given below are two statements. Choose the correct option :

Statement (I) : Collateral is an asset that the borrower owns (such as land, building, vehicle,
livestocks, deposits with banks) and uses this as’a guarantee to a lender until the
loan is repaid.

Statement (II) : If the borrower fails to repay the loan,thé lender has the right to sell the asset or
collateral to obtain payment.

(1) Both Statement (I) and Statement (II) are\true
(2) Both Statement (I) and Statement (IT) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

=i & FoA feu T g 1 9 fasedan 59 &+

®UT (1) : FHefe HoneR U Huft 8, fwe mifas wsior € (39 - yff, sare, e, wsy, S § OS)
ST SHEHT TEIHTE T8 SHRETAT 1 T S o ©Y H Il 8, e T Tob 01 361 ST &1 o S |

YT (1) : IS FolaR YR AT9H ] L I, Al SURSEI 1 P Wi o fag Fufa =1 grefs Homer

= T AT e 7
(1) R (1) 2R HI (1) < =& T |
(2) TR (I) S HAT (1) S TTerd €1
(3) U (I) el & 9%g YA (1) 7e7d & |
(4) HAT (I) T T UG R (I1) T T

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
- 3, Option ID :- 439,

« 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437




Question ID:- 111

Given below are two statements, One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Modern currency is accepted as a medium of exchange.

Reason (R) : It is accepted as a meduim of exchange because the currency is authorised by the
government of the country.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.

9 &1 e fou T €, f5H w B stfreRem (A) iR gEY i RIRUT (R) e TR

freReF (A) @ 3T ge1 1 faf o & grem % w9 § wier o e #

T (R) : =0 fafrma =1 mem safey SR fFn s 8, w=0ifs e So = Wwar 38 wiftsd
EaGid

ST HYT & Heln H AT G T fasredi § | wed IUgE I HwA e |

(1) (A) 3T (R) g T&l € 3R (R), (A) T T == Ll 2

(2) (A) ¥R (R) €M 9eT E 93 (R), (A) 1 TE AR & H T

(3) (A) W&l 8 T (R) e B

(4) (A) TR & TG (R) T €

Options:-

.1, Option ID :- 441,

. 2, Option ID :- 442,

« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

Given below are two statements about modern forms of money. Read them carefully and choose
the correct answer from given options :

Statement (I) : It is not made up of precious metals.
Statement (II) : Itis of use on its own.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true




== sTeIfer el o Hao H a1 %o fou e § | 5% vAH 9 ug iR fou gu fakedl § ¥ W @ g i)
HUF (1) : I IgYd UGSl ¥ &l a1 2l |
e (I1) : 4 319 1Y H T 1 Bl § |

(1) R (1) 3R HAT (1) IF T €1
(2) I (1) 2R wmA (11) THT TeTd 2|
(3) YA (1) T& T 9Tg ®Y () TeTd 2|
(4) HYA (1) TG T TG HYA (1) T T

Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

Given below are two statements, one is labelled as Assertion (A)‘and the other is labelled as
Reason (R).

Assertion (A) : A large number of workers are forced to enter the unorganised sector jobs.

Reason (R) : The employment opportunities in the organised Sector have been expanding very
slowly.

In the light of the above statements, choose the correct@nswer from the options given below :

(1) Both (A) and (R) are correct and (R) is the e¢Orrect explanation of (A)

(2) Both (A) and (R) are correct but (R) is net'the correct explanation of (A)

(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

19 < e fou e ¥ 1 U i erfienem (A) 3T gE I HROT (R) FE TR

fireRe (A) : =S TEm § gftenl # sfed &5 o ARl | S o fore e R S €
WHEOT(R) :  E7fed &9 H SR % o1 dgd Hi-4i 98 ® €|

9 oA F I H A= e e el § | HEl I w1 = w0

(1) (A) 3R (R) S H&l € 3R (R), (A) ! Hel == H:l 2 |
(2) (A) 3 (R) S TE T UG (R), (A) T TE AN T H L
(3) (A) W& U (R) T €

(4) (A) TeId & 9 (R) HEl €1

Options:-

.1, Option ID :- 449,
- 2, Option ID :- 450,
. 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114




Arrange the sectors in descending order in its contribution to the GDP.
()  Primary sector

(ii) Secondary sector

(iii) Tertiary sector

(1) Primary>Secondary>Tertiary
(2) Secondary>Primary>Tertiary
(3) Secondary>Tertiary>Primary
(4)

Tertiary>Secondary>Primary

&157h] o Fehel He] cUIG H §h ANGH o HATHR el e H AT &l
() s aEew

(i) Tedaes sme

(iii) TR &h

(1) wrefaes > fgdftas > gotaem
(2) fadterer > wfas > qeaes
(3) fadae > geitoes > wafts
(4) g > fodas > yafas
Options:-

.1, Option ID :- 453,

« 2, Option ID :- 454,

« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

Given below are two statements :

Statement (I) : The activities in tertiary sector help in the development of the Primary and
Secondary sectors.

Statement (II) : These activities, by themselves, do not produce goods but they are an aid or a
support to the production process.

In light of the above statements, choose the correct answer from the options given below :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true




= & FyE feu g

®YT (1) : AR &5 1 fafafear mafrs iR e a9 % faem o meg #d 2

w/AF (I1) ¢ fafafemr @a: axgel ® 3eneT 78 Sl T, afeh SeaeA-Ulehar § Wedn a1 76g ! © |
ST A F e § A9 fTu e fasmedl § @ wE S w1 = i

(1) R (1) 3R /A (1) A T T
(2) R (1) TR HYT () A Tord £
(3) HU (I) TE T I HYA (II) T 2 |
(4) R (I) TeTd © UG RAT (IT) HEl ©)

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116

Human Development Report is Published by :

(1) UNDP (United Nation Development Programme)
(2) WTO ( World Trade Organisation)

(3) WHO (World Health Organisation)

(4) World Bank

Tre fogr 02 g vl VS & |
(1) Hgaa T fomrm sy (FUESn)

(2) fava =R HeA (S5, ALE)

(3) Tove w@med e (S A &)

(4) fava o=

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
« 3, Option ID :- 463,

« 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117




Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Kerala has a low Infant Mortality Rate.

Reason (R) : Kerala has a adequate provision of basic health and educational facilities.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both statement Assertion (A) and Reason (R) are true but (R) is not the correct explanation
of (A)

(3) Assertion (A) is true but Reason (R) is false

(4) Assertion (A) is false but Reason (R) is true

4 < e fer MU | U 1 sifeeRem (A) S TE 1 SIROT (R) Rl T
fiReT (A) : A 9 o gog L FEE B

FOT(R) : e § it wameen i e gfaensdi & mafa weem 21
Y e o e H A= e Ty foeedl § | wal S = |

(1) (A) 3 (R) 2T Tl & @i (R), (A) T HEI = ol €
(2)  (A) 3R (R) SFT T ¥ 9T (R), (A) F FE == 78 e
(3) (A) W& & wg (R) e €
(4) (A) 7T ¥ 9 (R) T

1
2

Options:-

.1, Option ID :- 465,
- 2, Option ID :- 466,
« 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : When we produce goods by exploiting natural resources, it is an activity of the
primary sector.
Reason (R) : This is because it forms the base for all other products that we subsequently make.

In light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true




19 & e fer o €, fE | uw # oifieR e (A) SR TR FI SRIOT (R) FEl 1R

IR (A) : ST FH Uihfash ST 1 A ok ! 9% %1 Scaad hid ¢ af 98 WefHE &5 Hi Uk
Tfafafy gt &1

@WUT (R) : U9 zHfe @ i 28 29 g7 918 | sHIT SH ot 37 el Semel & forg sner s € |
IT HYA % el | A feu T fosmedi § | W@l 3T 99 i

(1) (A) iR (R) 31 @&l € 3R (R), (A) T T ==& F 2
(2) (A) 3R (R) ST 9T ¥ 3iX (R), (A) it T& =0 78l e g
(3) (A) §& € I (R) Toid B

(4) (A) 7d € R (R) & T

Options:-

.1, Option ID :- 469,
- 2, Option ID :- 470,
« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119

Given below are two statements about Subsidy. Choose the eorrect option from below.

Statement (I) : Itis a payment that a government makes toa.producer to supplement the market
price of a commodity.

Statement (II) : It can keep consumer price low while Maintaining a lower income for domestic
producers.

(1) Both statement (I) and Statement (1), are true
(2) Both statement (I) and Statement (I)/are false
(3) Statement (I) is true but Statemient (II) is false
(4) Statement (I) is false but Statement (II) is true

Tt & SR H gerrer U T ¥, S | we faered 1 =
HeA (1) : TE T8 YA ¢ S THR R frdlt Ieager =l areik hid i M & fae e s 2
HUA (I1) : FE 9T SUGH & fag 1 T SHIH TEd §U, SYHTERT hHdl o1 HH 1@ ol g |

(1) R (1) 3R 9= (1) 91 9el €1
(2) HI (1) R HIA (1) TH T 2 |
(3) U (1) TE T TR e (I1) T 2|
(4) YA () T & AT HYR (1) T T

Options:-

.1, Option ID :- 473,
- 2, Option ID :- 474,
. 3, Option ID :- 475,

« 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120




Minimum Support Price (MSP) is declared by the government before the sowing season.
(1) every year

(2) every 5 years
(3) every 10 years
(4) every 15 years
AqH FAG god (TH.UH W) §WRR 51 oI o HrEH | T8l =i i St g
(1) TTHA
(2) T uEE e
(3) B EEd Hied
(4) & vged Hel
Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

Given below are two statements and choose the correet answer from the given options :
Statement (I) : Seasonal hunger is related to cydles offood growing and harvesting.
Statement (II) : Seasonal hunger is prevalent onlytin urban areas.

(1) Both statement (I) and Statement (II) are\true

(2) Both statement (I) and Statemenit (II),are false

(3) Statement (I) is true but Statement (1) is false

(4) Statement (I) is false but Statement (II) is true

1= 2 e feu Tu € iR feu gu faskedl d§ ¥ wEt I & = w )
T (1) : HEE JEE EEE SIS AR FeA F TH Y FaE T
AT (I1) : HrEE yEnd Fae ved a6 § S T

(1) R () 3 He= (1) <A Fa €1
(2) A (I) R HT (1) S T £
(3) YA () T& T T YA (1) TeTd 2|
(4) YA (1) T T TG HYA (1) T T

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

- 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482




Question ID:- 122

Food security means :
(1) availability and accessibility of food to all people at all times

2

4

(2) availability and affordability of food to all people at all times
(3) accessibility and affordability of food to all people at all times
(4) accessibility, affordability and availability of food to all people at all times

T A 1 3 ©
(1) =Tt @il o foTg wem ¥iism =i STeTe 2K 95 |

2

4

Options:-

(2) §st & fore wem IS i STersd SR 39 UTE w6 ame |
(3) |t @i % forw TEe e i g iR 3H Wa F 1w |
(4) | S % forg wee siiS i Suersyd, UgH iR W s w1 | |

.1, Option ID :- 485,

« 2, Option ID :-
. 3, Option ID :-

« 4, Option ID :-
Answer Given:-

486,
487,

488,
4, Option ID : -488

Question ID:- 123

Read the following statements carefully and choose the €orrect answer :
Statement (I) : Mahatma Gandhi always insisted that india would be truly independent only

when the poorest of its peeple bécome free of human suffering,.

Statement (II) : The aim of Swarnajayanti Gram Swarozgar Yojana is to bring the assisted poor

P e e B e B
O N o
e

families above the poverty line by organizing them into self help groups through
a mix of bank credit andigovernment subsidy.

Both Statement (I) and Statement (II) are true
Both Statement (I) and, Statement (II) are false
Statement (I) is true but Statement (II) is false
Statement (I) is false but Statement (II) is true

frefafad weFl &1 AHYES YgHt 399 H Hel 3T 61 997 i |

FUT (1) :

HU (I0) :

1
2

TRTCHT Tl 29N 30 WA fom w5 & T vra 9e avedf § qef s 2 s =6 @ ged e
e oft AT 2o | Ha &

T} ST A SIS AT 1 3899 HeEdl urd feE aiar = w-geEd 9ye 9 d@afed
T Sk 0 3T TLHE Werfge! & 3 g e W@ @ s g

(1) =heA (1) 3R /I (1) EF 9 €1

(2) I (I) 2w (I1) SH Ted 2
(3) ®AA (1) TE ¢ frT YA (L) Ted €1
(

4) AT (I) o § SifeRs e (1) Tal 2

Options:-




.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Given below are two statements : one of them is Assertion (A) and the other is Reason (R). which
of the following is true in the context of these statements.

Assertion (A) : Vulnerability to poverty is a measure, which describes the greater probability of
certain communities (say, members of backward caste) or individuals (such as
widow or a physically handicapped person) of becoming or remaining poor in
the coming year.

Reason (R) : Vulnerability is defined by the option available to different communities for finding
alternative living in terms of assets, education, health and job opportunities.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

=1 <1 e feu e E 1 U 1 ifirene (A) TR TE I HROT (R) TR

31 garedl o deol # frefafeg § dw-wad 22

arfirerer (A) : T & wfa owgren ws w192 S g fodw oerl (S Tt frset sifa & we=) =0
wfel (S i fayan g9 v 9 fawai safaq) & et oo § fds 20 o faee
T & T AfTE IS § |

HIT (R) : ST = FraRo yRiefad, foen, e oiR ISR & 1a9d & &9 1 Sfifas deH &
fom fafvm Tl Forg Syers fascdl 9 2 &

(1) (A) 3R (R) ST 9t & 990 (R), (A) it HEl AT H |
(2) (A) R (R) S W& € G901 (R), (A) 1 TEl SR & Il B
(3) (A) W& & @ (R) T

(4) (A) 7Ted & @fFA (R) wE R

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
« 3, Option ID :- 495,

« 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125




Read the following statements and choose the correct answer from the code given below :
(i) Unemployment leads to wastage of manpower resource

(i) Unemployment leads to proper utilisation of manpower resource
(iii) Unemployment tends to increase in economic overload

(iv) Unemployment tends to decrease in economic overload

Code :

(1) (i) and (ii)

(2) (i) and (iii)

(3) (ii) and (iii)
(

(4) (i) and (iv)

frefafed Feml i ue IR 9= fou e e § @ W= Fer/mg 1 =11 #+

() SUSTRN | S g o geiel gl g

(i) SRISTIRT SR GameE % Sfed 9 #it SR & S 8
(i) SRISATRY & 37 de § g 2t

(iv) SRS | o7ifefer sier o HT €l 81

%< :

(1) () ¥ (i)

(2) (i) 3R (iii)

(3) (i) S (iii)

(4) (i) 3R (iv)

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

- 4, Option ID :- 500,
Answer Given:- 3, Option ID : -499

Question ID:- 126

The nature of unemployment in rural areas are mostly :
() Educated unemployment

(i) Seasonal unemployment

(iii) Disguised unemplbyment

Code :

(1) (i) only

(2) (i), (iii) only
(3) (i) only

(4)  (iii) only




TrfToT &5 H SIS Sl UeRfd SIS 2t ©

() Tofea Sl
(i)  Hred S
(iii) =gl SIS
(1)  her (i)

(2) FE (if) ST (iii)
(3) R (i)

(4) A (i)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

The quality of population depends upon :
() Literacy rate

(i) Life expectancy

(iii) Skill formation

(1)  only (i)
(2) (i) and (iii) only
(3) (i) and (ii) only
(4) only (ii)

(ii) e TEmEn T
(iii) =hrerd Fior @)
E TR

(1) & (i)

(2) e (i) SR (iii)
(3) R (i) SR (i)
(4) I (ii)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508




Question ID:- 128

Given below are two statements. One of them is Assertion (A) and the other is Reason (R). Which
of the following is true in the context of below statements ?

Assertion (A) : Countries like Japan have plenty of natural resources, By the use of these, it became
a developed nation.

Reason (R) : Japan invested on people, especially in the field of education and health. Efficiency
and the technology evolved by people have made Japan developed.

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

1 <t gerTer feu e ¥ | U i STRaeR e (A) 3R ER S SRIROT (R) el 1§ | Sue Sl aeel o He

Y fefefea § #m-m g8t 22

AR (A) : STUH SIF 9 7 TSk 9 Wrehfaes ST g=R 5 § ot | forwet wan @1 o7 faemfad <o
Eai

HNROT(R) :  S9F A 3794 fafadi | faee &9 9 faan siw @ & d e fwan 37 & 3 s
FErdr SR Wit fassfad &t 36t | s fasfad |

(1) (A) R (R) SR G& & 7901 (R), (A) 1 T =amen s ¥
(2) (A) 3R (R) A Td € a0 (R), (A) T Tl WA TEl BT 2 |
(3) (A) TE ¥ T (R) e B
(4) (A) TeTd € IR (R) SE €

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129

Given below are two statements. Choose the correct answer from given options.

Statement (I) : The Green Revolution in the late 1960s introduced the Indian farmer to cultivation
of wheat and rice using High Yielding Varieties (HYVs) of seeds.

Statement (II) : HYV seeds needed plenty of water and also chemical fertilizers and pesticides to
produce best results.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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(1)  =heA (1) 3R e (1) < 9 &)

(2) R (1) 2w (1) A Ted 1

(3) WU (1) HEl & T HYA (II) TeTel € |

(4) ®mI () T € TG HYT (1) TE T

Options:-

.1, Option ID :- 513,
- 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

Given below are two statements. One of them is Assertion (A) and the other is Reason (R). Choose
the correct answer from given options.

Assertion (A) : Currency is accepted as a medium of exchange in the country.
Reason (R) :  Currency is authorised by the people of-the country.

(1) Both (A) and (R) are true and (R) is the eortectiexplanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

9 81 Fud fou 7 €, 3 § UHR A SR Y (A) 3R T F ROT (R) e T ¢ | e T fawed 5 9
& S H =TT R

AR (A) : U FI faf % aem % w9 3w H swe foren s )
@HOT (R) :  hiH! fohEl <91 1 Sid1 g1 Wifershd <l STl & |

(1) (A) 3R (R) 31 @et € 3R (R), (A) %1 HE ==0en 3 2
(2) (A) ¥R (R) 3F W&l § W (R), (A) 1 T& =W Tol F@ 2|
(3) (A) W@ g W (R) TIerd B

(4) (A) T § 9 (R) W&l E1

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131




Why has the Indian ocean been named after India ?

(1) because Indians discovered it.

(2) because it is near to India.

(3) because no other country has a long coastline on it.
(4)

4 because British named it after India when they colonized India.

fET TRTHNR 1 ATH 9 % A9 W R @ T ?

(1) oFifR IRl o S9! el & |

) HifE I8 uRd F U9 ¥

3) oifer 3 HREER H TR off <91 &t 99 | R S w9 2

4) iR SIS A S YR 1 STYAT IUMEY S 91 T AW YR o AW W @ e

(2
e
(

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
« 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

The Latitudinal extent influences the duration of day arid'night as one moves from
(1) North to South

(2) South to North

(3) West to East

(4) East to West

FAII FT JIE fed 2R T4 &t ety T v=a §)
(1) 3 H 2o =t &R

(2) = 9 S R

(3) ufe=sw ¥ gd i 3K

(4) Y& ¥ 9= R

Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

« 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133




If the sun rises in Arunachal Pradesh at 4.00 A.M. then when will sun rise happen in Gujarat ?
(1) Approximately at 5:00 A.M.

(2) Approximately at 6:00 A.M.

(3) At the same time, i.e. 4.00 A.M.

(4) Approximately at 3:50 A.M.

I STEUTES Ye¥ H g 4 997 GI ST © o ToRId H YIS e 3 2

(1) & gag 5 a5

(2) T YHE 6 &S

(3) H HHA A°iq Y@ 4 S

(4) T GAE 3:50 I
Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
« 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

A person was travelling to different parts of India and'He/she shared that he/she firstly visited
youthful topography of India having high peaks-andideep valleys and then he/she moved to
ancient landmass of India having rising hills and wide valleys.

Which places has the person visited ?
(1) Karnataka and Jammu Kashmir

(2) Jammu Kashmir and Andamans
(3) Meghalaya and Rajasthan
(4) Andamans and Karnataka

ek SHfed IR < fafers 9mil # 96 6 @ 9 SR SR wara f 321 98 Wi o o Tl Sl A
g S foret @ Ted wnfel € sl S5 918 9 WG 3 rEHaH 9T 1 R 0 e w9 S geited ud
=t wfear €1

32 fora-forg o =t 3 1 2
(1) FAleH IR T HIHR

(2) <9 HHR 3R AR

(3) Heer S T

(4) ofeud 3iR Fie®
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
- 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533




Question ID:- 135

Match the following :
Region of Northern Plain

(A) Bhabar
(B) Terai
(C) Bhangar
(D) Khadar
(Aa) B © @©
1 @ @ @) @)
(2) (@) @) @) ()
®) (v) (D) (@ @
4) @ @) @v) (i)
e =i
I B o W
(A) MR (@)
(B) T (i)
(C) ¥ (i)
(D) =X (iv)
(A) ®) © (D)
(H @ @ @) (@)
2 @) @ @ @)
(3 () @) G@ @
4 ® (@) @Gv) ()
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
- 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 2, Option ID : -538

Features
(i)  Wet, swampy and marshy region
(ii) Region having calcerous deposits
(ifi) Region of disappearance of streams
(iv) Younger deposits of floodplains

Gftari & faega 2 @ &
a1 frai o A Her 6 A

Question ID:- 136

Which of the following is true about corals ?
(1) Coral polyps are long lived micro-organisms.

)  Corals polyps do not live in colonies

(2
(3) Corals polyps flourish in deep, mud free and cold water.
(

4)  Corals polyps secrete calcium carbonate




et % 9R H 7 § § SH-91 FHoH 96l 72

(1) YaTe Gifered Td T0 o Sifad @4 arel g&q ol § |
(2) WA it e o el W |

(3) WA Ui Ty, s ed ud 3 5 | 2 §)

(4) AR Gfaw § Sy HEHe w1 9@ g 2 |

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
- 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Read the following statements about Himalayan Rivers and choose the correct answer from given
options.

(i) Himalayan rivers are perennial.

(ii) Himalayan rivers receive water from rain and snow.

(i) Himalayan rivers form meanders in their upper course.

(iv) Himalayan rivers have well developed deltas.

(1) (1), (ii) and (iii)
(2) () (iii) and (iv)
(3) (i) (i) and (iv)
(4) (i), (iii) and (iv)

fewrer =1 Afedi & @i # fou 7u eyl el v i) fasmedi § & Hel ST &1 g1e i |
() Temmem =+t Afear sweamEh Sd 8

(i) femmem =t Afear fuoer gufeq qen anftwr gR01 5 e et €

(iii) femmer =1 Afeal sta Sudt v 4 fardf s fotor st €1

(iv) Temem =%t afedi § fosfgg Seer e €

(1) (i), (i) 3R (iii)
2 (), () 3 (iv)
3 (), (i) 3 (v)
(4) (i), (i) 3 (iv)
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
- 3, Option ID :- 547,

« 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138




Read the following statements about Brahmaputra River and choose the correct answer from
given options.

Statement (I) : In Tibet, the river carries high volume of water and high silt.

Statement (II) : In India, it passes through a region of high rainfall.

(1) Both Statement (I) and Statement (II) are true.

2) Both Statement (I) and Statement (II) are false.

3) Statement (I) is true but Statement (II) is false.

4)  Statement (I) is false but Statement (II) is true.

(
(
(
FEE 76 F TR H e FHeri 1 ufeu @i fau gu faeredi # 3 Tl 3w & = )

®eA (1) : foeaa # 59 79 ° 5@ vd faee &t wen agd i gt g
HUA (I1) : 9 | I 74 I a9 a1l &9 H H SR ot ¢ |

(1) R (I) SR HeF (1) S T2l 1
(2) HYA (1) IR HYT (1) A TAd €
(3) YA () T& T Tg YA (1) Td 2|
(4) H/YA (1) TG T TG HYA (1) T T

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
- 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139

Choose the odd one out.

(1) Narmada and Tapi both are penninsular rivers.

(2) Narmada and Tapi both eriginate from Madhya Pradesh.

(3) Narmada basin and Tapi basin both cover some areas of Maharashtra.
(4)

4) Narmada and Tapi both depend on rainfall for water.

feres =4 |

(1) a1 &R ardt ST & W e )

(2) e 3R At ST I T Yew H B T

(3) e gl SR Ardt St S § "R % $ fewdi | FEdl §)
(4) e &R ardt SHT @ Sl & ferg el frel e €

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554




Question ID:- 140

Which of the following Venn Diagram clearly depicts the relationship between climate and weather.

Weather
(1) Climate

Climate
(2)

Weather
3) Weather Climate
(4) Q Q
Weather Climate

=1 § | FA-1 99 A Seary R 9 & 99 % g Te YR 9 T s € 2

ey
(1) EGELR
EEELR
) e
(4)
Hrem EEEIR|
Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558




Question ID:- 141

Read the statements below, one of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Air temperature decreases from the equator towards the pole.

Reason (R) : Due to curvature of Earth, the amount of solar energy received varies according
to latitude.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) (A)is false but (R) is true

e e 1 o9 B 031 T 9w afueRed (A) ® @R 380 T (R) #)

fireRer (A) : TUHE g g9 | gl Fi SIR TE Sw

WHIOT (R) : YT oI Tt % HR0T, 39 UTe TR STl i 01 AT % STTHR STer-STerT 2t 7 |
e fasred &1 A &

(1) (A) 3 (R) S §&l € 3iR (R), (A) 1 Tl = F:Ldl ¢ |
(2) (A) ¥R (R) I T § UG (R), (A) T T& =0 T HE E
(3) (A) ®@I € 9%q (R) e 2

(4) (A) TeTd & 9 (R) Hel €1

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

« 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

Read the following statements, One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Hills are cooler during summers.

Reason (R) : At Higher altitudes the atmosphere become more dense.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A)is false but (R) is true




et el o1 2 E U1 3 9 U 3ifueRe (A) § SIR 9HT T (R) €1
fireReM (A) @ Teifedr it % g § off €5 2t ¥

WA (R) :  Fd Tael W GFHSH HI GOl 9¢ S 2|

e farshed =1 FE )

(1) (A) 3R (R) S H&l € 3R (R), (A) ! Hel == H:l 2 |
(2) (A) 3 (R) S TE T UG (R), (A) T TE AN T H L
(3) (A) ®& & T (R) el €

(4) (A) TeId & 9 (R) HEl €1

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

Read the following statements carefully, One of them is Assertion (A) and the other is
Reason (R).

Assertion (A) : Delhi is very hot during summers & very ¢old during winters.
Reason (R) : Delhi is far from sea.

Choose the correct option :

(1)  (A) and (R) both are correct and (R) is the €orrect explanation of (A)

(2) (A) and (R) both are correct but (R) is.not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A)is false but (R) is true

1 el o1 oA W 0 | 3 ST ifueRe (A) ® 2R gHY RO (R) 1
afireRem (A) : oot 7fiiEl & sga sifts m efv | A aga sifees 3t wdt ®)
HITOT (R) : faeed 98 o =gd ¢l

e fersheq 1 gAE H |

(1) (A) 3R (R) 3 HEl € 37 (R), (A) I HEl == H 2 |
(2) (A) 3 (R) ST TE T 9 (R), (A) I TEI A TE B L
(3) (A) W& & 9%q (R) TTerd €

(4) (A) 7T € 9 (R) HE E

Options:-

.1, Option ID :- 569,
- 2, Option ID :- 570,
« 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 2, Option ID : -570

Question ID:- 144




Choose the correct answer from the given options about India’s Latitude.
(i) Tropic of Cancer passes through middle of the country.

(ii)y Northern part of the country belongs to tropical area.

(iii) Southern part of the -:cm_ntl"}Y belongs to sub-tropical area.

(1) COnly (@)
(2) (i) and (iii)
(3) Only (iii)
(4) (i) and (i)

R o A9 & o H feu 7u =1 fosredi § & 981 39 & =997 HL |
(i) e g9 W F 9T W W e 2|
(i) <9 1 IT 9T ST HioaEiT &7 B
(i) <91 =T Sfolt R Sure FHfesedia T

(1) e (i)
(2) (i) SR (i)
(3) e (i)
(4 (i) ¥R (i)
Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145

Which of the following is true @bout Coriolis force ?

(1) Itis an apparent force caused by Earth’s gravitational force.

2) Itis an apparent force caused by Earth’'s rotation.

3) Itis responsible for deflecting winds towards the left in the northern hemisphere.
4) It is responsible for deflecting winds towards the right in the southern hemisphere.

(
(
(

=1 § @ -1 FeF SRk 9¢ % o) § 9El 2

) TE YT % eI S & HRU I e Frel T SE o |
(2) % 9l o FUA o HRU I B ATl Teh ST FA

(3) ¥E T TSI % Iudl Meng H a1 iR fadfug % & fau swerh g1
(4) I F TaHl I SfEol Werg H o iR fadfud we % fon Swerh #

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,




« 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

Question ID:- 146

National Population Policy of India focuses on :

(i) imparting free and compulsory school education.
(ii) reducing infant mortality rate.

(iii) compulsory sterilization to reduce birth rate.

(

iv) creating awareness about the risk of unprotected sex among adolescents.

(1) (i), (i1) and (iii)

(2) (i) and (iii)

(3) (1) (i1) and (iv)

(4) (i), (11i) and (iv)
T G Hif Hfza #

() TA:ver v srfam fammerd faen &7 m

(i) Ty g W HEH FH R

(iii) S T HH HL o g AEE FHeE] )

(iv) Toreir frenfet o engfar 4 day & S9! & an | STTEshdl o W)

(1) (@) (i n‘i)
(2) (u)aﬂI

(3) (i), (i )eﬁﬁ(w)
(4) (i), (iii) 3R (iv)
Options:-

.1, Option ID :- 581,
. 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

Which of the following is true about ‘enrichment plantation” ?
(i)  In this process, a single commercially valuable species is extensively planted.

i) In this process, the plantation is being done to reduce land erosion.

PR

(
(iii) It leads to damaging of the natural forests.
(iv) Itleads to increase in diversity of forest.

(1) (i) and (iii)
(2) (i) and (iv)
(3) () and (i

(4) (i) and (iv)




=1 o 9§ - e gadE geen’ % gy § wdt g2

() 39 ufran § anfos &t gft | Swrht e & o o R S g
(i) % ufwran yfe e 1 T & foe 1 st 2

(iii) T UfH T Wikl 5 =g & o1 2 |

(iv) =T g1 i fafasmer sed 7

(1) (i) 3R (i)
(2) (i) W (iv)
3) () ¥R (i)
(4) (i) ¥R (iv)
Options:-

.1, Option ID :- 585,
- 2, Option ID :- 586,
« 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Read the fo]jowing statements about water scarcity & cheese the correct answer from given
statements.

Statement (I) : Water scarcity only happen in those dreas which have less water resources.
Statement (II) : Water scarcity can never happen_ih aréas having high rainfall.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement () are false

(3) Statement (I) is true but Statement (1) is false

(4) Statement (I) is false but Statement (1I) is true

S gyl & g1 | U U 1 el oo 9 e iR feu e famedl | | 9@ SR %1 gAE $i |
HYF () : 5 S Fad I LIF W E €, S Sl SIS F w2l €
HUA (I1) : T gaar et off steaferss aui amer wI o A g S |

(1) YT (1) 31 e (1) < Tt 8
(2) HIA (1) R HYA (1) IF T € |
(3) YA () T& T 9g wYA () Td 2|
(4) YA (1) TG T TG HYA (1) T T

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Question ID:- 149




Given below are two statements. One is an Assertion (A) and the other is Reason (R).
Assertion (A) : Arhar, being a leguminous crop, helps in restoring soil fertility.
Reason (R) : Arhar is mostly grown in rotation with other crops.

Choose the correct answer from given options :

(1)  (A) and (R) both are correct and (R) is the correct explanation of (A).

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

= &1 e feu e § 1 3 3w eifbeRe (A) ® SR g5 ST (R) B
AR (A) : 3WE, TH Fellgk FIA 8F F R, o 1 Il I I Tl |
WOT (R) : 3 &l AFAR W T FHEl o STa0A | ar] Sa ¢ |

feu gu fasmedi # | W& ST 1 FAE R |

(1) (A) 37 (R) S F&l € 3iR (R), (A) I &l A FLdl ¢ |
(2) (A) 3R (R) S TE T 9 (R), (A) T TE A T B L
(3) (A) ®@I € 9%q (R) e &)

(4) (A) TeTd & 9 (R) Hel €1

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

Read the below statements and/choose the correct option.

Statement (I) : Earth’s crust is'made up of different metals embedded in the rocks.
Statement (II) : Various minerals are extracted from these metals after proper refinement.
(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true

1= feu gU el 1 U 1 el ferehed &l =3 i

wF (1) : Y-Sl fafim urgedl % 2w 4 o= =g 9 fafda 21

A (I1) : 37 =1geil %1 SUgad vied &k ¢ fafvm e feeredt sidt €1
(1) e (1) 2R Haw (1) 2H T8 21

(2) I (1) R HA (1) SH Td 2 |

(3) A (I) T2 T 9T e (I1) T 2 |

(4) HYA (1) TG T TG HYA (1) T T




Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

- 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

Aluminium is metal.
(i) Very strong

(i) Very light

(i) Very resistive

(iv) Highly malleable

(1) (i), (i) and (iii)
(2) (i), (i) and (iv)
(3)  (ii), (iii) and (iv)
(4) (1) and (ii)

T T g R

(i)  aga rfeRTamett
(i) ogd T

(iii) SE o
(iv) ®gd Sraasds
(1) (i), (i) S (iii)
2 (), (i) R @v)
(3) (i), (iii) 3R (iv)
(4) (i) ¥ (i)
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
- 3, Option ID :- 603,

« 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152




Manufacturing sector is considered the backbone of development because :
(i It reduces people’s dependence on agricultural income.

(i) It modernises agriculture.

(iii) Import of manufactured goods expands trade and commerce.

Code :

(1) (i) and (ii)
(2) (i) and (iii)
(3)  (iii) only
(4) (i) only

fafmtor s =1 fasem =1 g Tuen s § i -
() I H W smifEw el & w0 Fa g

(i) &% F HT SMTRIFI FA T |
(iii)  frfda aegedl @ st anfose 9 SR SeE €

e :
(1) (i) 3 (i)
(2) (i) 3R (iii)
(3) A (iii)
(4) FIa (i)
Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,

- 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153

Read the statements below and choose the correct option.
Statement (I) : The Textile Industry occupies unique position in the Indian economy.

Statement (II) : Textile Industry is the only industry in the country which is self reliant and
complete in the value chain, ie. from raw material to the highest value added
products.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true




= feu gu Al 1 ufeu AR wel faswey =1 =47 &L |
T/ (1) : VAT Adereren § @ e #1 fafere w7
A (1) : TE TEM S H Hehell JAN 8 51 Fed Tlel H olohl IoAqH AT Jod IS o i e J

fequl qerm st 7 |
(1) heM (I) 3R s (1) SHf 98 €
(2) YA (I) 3 HAA (1) ST T 2 |
(3) ThAT (I) HEl & 9 A (1) eI 2 |
(4) YA (1) TG T TG WY (1) T T

Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 1, Option ID : -609

Question ID:- 154

Below are two statements. One is Assertion (A) and the other is Reason (R). Read them carefully
and choose the correct option,

Assertion (A) : Sugar Industry is seasonal in nature.

Reason (R) : Sugar Industry is ideally suited to the cooperative sector.
(1) Both (A) and (R) are true and (R) is the correet explanation of (A)
(2) Both (A) and (R) are true but (R) is not the,Correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

19 2 FeA T 13 | T IRIher(A) & SN TEU T (R) B3 2AH U e iR el fasen & gAa
|

srfireRer (A) : =M1 3TN ST Y HEH B

&HIT (R) : i N HEFhHT & o fou 39 2|

(1) (A) ¥R (R) 1 =& € IR (R), (A) T T 0@ F:T 2
(2) (A) 3R (R) S F&T € 9L (R), (A) F1 T A T B 2 |
(3) (A) W@l € T (R) TTAd B

(4) (A) TeTd € 9 (R) HE B

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
« 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155




If you are in the electronic capital of India, then you are in :
(1) Mumbai

(2) Hyderabad

(3) Bengaluru

(4) Chennai

3T 39 G =t 2T TS § ® 9 ey gl
(1) 7=
(2) TTER
(3) STE
(4) ==
Options:-
.1, Option ID :- 617,
« 2, Option ID :- 618,

« 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 3, Option ID : -619

Question ID:- 156

Constitution of South Africa guarantees following rights to citizens -
(1) Right to privacy

(i) Right to have access to adequate housing

(iii) Right to have sufficient food and water.

(iv) Right to have armed revolt.

Code :

(1) (i) and (ii)

(2) (1) and (iv)

(3) (i), (i) and (i)
(4) (1) (i1) and (iv)

=feqor sttt % dfauE o Tmfest @1 fFefafen afver o €

(i) s = sAfasr

(ii) T SETE 9 HATEHR
(iif) TETE IS SR O T SR
(iv) were fagie 1 sfuer

e

(1) (i) 3 (i)

(2 (i) ¥R (iv)

(3) (i), (i) SR (i)

(4) (i), (ii) 3R (iv)




Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
. 3, Option ID :- 623,

« 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

It is true about National Human Rights Commission that :

(i) This is an independent Commission set up by law in 1993.

(ii) Like judiciary, the Commission is independent of the government.

(iii) Commission is appointed by the President and Chief Justice of Supreme Court.
(

iv) The Commission presents its findings and recommendations to the government or intervenes
in the court on behalf of the victims.

(1) (1) and (i)

(2) (i) and (iii)

(3) (i), (ii) and (iv)

(4) (i), (ii) and (iii)

T AR TE & 91 § T § ;

(i) AT 1993 H HIT % GRI S T Uh s ST B

(ii) AR i TXE AR ff TR | T&aT 2 ¢ |

(iii) SR TRt i Teufa SR swraw e & gEr e et S € )

(iv) STFEINT s7aet Sife ot fdie eit orae g geenr &1 <1 € = difedi @i oIk ¥ srererd | <@ T B

(1) (i) 3 (i

2 (i) Eﬁh(
3 () (i) R ()
(4) (), (i) 3 (i)
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

« 4, Option ID :- 628,
Answer Given:- 2, Option ID : -626

Question ID:- 158

Think about the following statements and choose the correct option.

Statement (I) : Constitution provides many more rights, which may not be fundamental rights.
Statement (II) : Right to property is a fundamental right but it is not a constitutional right.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true




3 &l T fomr s STR WEl fashed =1 =9q Y |
HY (1) : TEuE o oY Afswr of g § S difes sifier 71 8
AT (I1) : Tufa TE 1 AR Hiferes afusn 8, | gaufaer sfver =& 2

(1) R (1) IR e (1) S 91 1
(2) I (1) SR HYA (1) SHT TeTd € |
(3) R (1) T& T wifer oA (1) Terd 2
(4) R (1) T § WfRT e (1) T&l ¥

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
« 3, Option ID :- 631,

- 4, Option ID :- 632,
Answer Given:- 3, Option ID : -631

Question ID:- 159

Below are statements. One of them is Assertion (A) and the otheris Reason (R).

Assertion (A) : Constitution makers were so particular in_providing written guarantees of the
rights of the minorities.

Reason (R) : Working of democracy gives power torthe majority.
Choose the correct answers from given options.
(1) Both (A) and (R) are true and (R) is the eortectiexplanation of (A)

(2) Both (A) and (R) are true but (R) is not the eorrect explanation of (A)
(3)  (A) is true but (R) is false
(4) (A) is false but (R) is true

2 & gee faw e ¥ v FefeRe (A) 3R SHY %1 SRIEOT (R) e T

sfuehe (A) @ B8R Hfaum fmfa seudern & sifysri =1 fafea e % fou sfus a=m 9
WHUT (R) :  Ahad o1 FHEATSA ST SgHETFi #1 e dehd § 9dt € |

feu gu forspedi & | Wet I 1 FAE H |

(1)  (A) 8T (R) ST W& § a1 (R), (A) I T2 RS @1 |

(2) (A) ¥R (R) T |l & AfeFT (R), (A) 1 TE =amen & T & |
(3) (A) & & @R (R) 7o 2

(4) (A) 7o B ©ifRd (R) WEl B

Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,

« 4, Option ID :- 636,
Answer Given:- 4, Option ID : -636

Question ID:- 160




The practice of untouchability has been constitutionally forbidden in any form. Untouchability
means :

Statement (I) : Untouchability means refusal to touch people belonging to certain castes.

Statement (II) : It refers to any belief or social practice which looks down upon people on account
of their birth with certain caste labels.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

fordt ot T8 % BT i AT 9 § Tord SR fomn T ¥ =e geiad w6 Y §

HYA (1) : TE AT 1 A FP WE SGE] o SARN h IER FH YA H T S

WA (1) : T 37 TR WHIRSe Araisl SR STl Fl ¥ Toid R <1 &, e et @ snfa § 5=
o 9" G o] A TS 9 <@ S g

(1) ReM (I) 3R see (1) SHf F8 €
(2) YA (I) 3 HEA (1) THI T 2 |
(3) YA () T& T Sfha sweM (1) 7o T
(4) YA (1) T § el R (I1) W&l 81

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 3, Option ID : -639

Question ID:- 161

Who among the following is agart of the political executive ?
(1) District Collector

2)  Secretary of the Ministry of Home Affairs

3) Home Minister

4)  Director General of Police

(
(
(

fr=fafaa & == Tt s & fawm 2 g 2

(1) fToenda

(2) T2 Hed  HivE

(3) T

(4) Yfo™ HRIeus
Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
« 3, Option ID :- 643,




« 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

Below are two statements. One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : India has an integrated Judiciary.

Reason (R) : Supreme Court controls the judicial administration in the country.
Which of the following is true in the context of above statements ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

9 < gaer fou Tu F | U @i SUEmYR (A) IR TR I RITOT (R) FE L
IR (A) : 9RA B =AErIfers THiFd 8

WIOT (R) :  Hars e o¥ H =fae Yo o1 e i g1

Sy ST el # dedl § Frefafad § § $-a gd €2

(1) (A) 3 (R) SFT T&T € T (R), (A) &I T& =& F ¢
(2)  (A) 3R (R) M TE F 991 (R), (A) I Tt SIS TE H
(3) (A) W&l € Ifeh (R) T & |

(4) (A) 7o ® wifeR (R) W&l

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

It is true about President of the United States of America that :

(i)  President is not answerable to the Congress.

(ii)y His /Her tenure is for five years.

(iii) He/She doesn’t need the support of the majority of members in the Congress.

(iv) He /She can complete his/her tenure even if his/her party does not have a majority in the

Congress.
Code
(1) (i) and (i)
(2) Only (iii
(3) (i), (iil)) and (iv)
(4) (i), (iii) and (iv)




aft T F IR H T R

() Tezufd HEE % yi SeEr 7@ 7
(i) 9 HRiFHE g o & B
(
(

iii) Tszufd s % fore S g F SgHd o T9UE 1 e el o |

iv) ST9H] U il HEUH H FgHd 7 81 9 o 98 TR H ST il G Il F |
e :

(1) () 3R (i)

(2) e (i)

(3) (i), (i) ¥R (iv)

(4) (i), (i) R (iv)

Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

- 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

Below are two statements. One is Assertion (A) and the other'is Reason (R).

Assertion (A) : Parliamentary democracy in most counfries is often known as the cabinet form of
government.

Reason (R) : Decisions are taken in cabinet meetings.

Which of the following is true in the contextiofiabove statements ?

(1) Both (A) and (R) are true and (R) is'the correct explanation of (A)

( Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) (A) is false but (R) is trade

= & see few e ¥ v @ sfueRYe (A) 3R T I SRIOT (R) e T g
AR (A) @ AfuHie SO H HHEA SAehesl I TEHR 1 hide EY el Sl & |
WIOT (R) :  HEcl shig-e i 93l § U 5d €1

S SH1 aeedl & ey # fFrefefad § 4 S e 72

(1)  (A) &R (R) 1 W& ¥ 921 (R), (A) &1 & =a0en €|

(2) (A) 3R (R) THi 9&l € AfF (R), (A) T & =3me 76 1
(3) (A) WE & @fRA (R) e B

(4) (A) 7o g R (R) HEl 2

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,
- 4, Option ID :- 656,




Answer Given:- 1, Option ID : -653

Question ID:- 165

Below are two statements. One is an Assertion (A) and the other is Reason (R).
Assertion (A) : Prime Minister is free to choose ministers.

Reason (R) : After the appointmentof the Prime Minister, the President appoints other ministers
on the advice of the Prime Minister.

Which of the following is true in the context of above statements ?

(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true.

19 <1 agqed feu U ¥ | U i IRy (A) 3R gE I T (R) FE AL

freRe (A) @ st H5EE % 9 % faw w@6s B g

WIOT (R) :  WeHEl o1 ekt ot & a1 Iegula Seres =l Jerms o ga w5l 1 e #d 21
ST SHI el & wed H fFrfefed § @S- e ¥2

(1) (A) iR (R) EF1 W&l § a1 (R), (A) I T2l SARA FHI & |
(2) (A) @R (R) S Tel € 991 (R), (A) I & =@ &l H &
(3) (A) W&l & & (R) T B

(4) (A) Ted § df (R) WEI 2

Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
« 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

Think about the following statements and choose the correct answer :

Statement (I) : Prime Minister is the most important political institution in the country.
Statement (II) : There is direct election to the post of the Prime Minister.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true




T A TR faEm & e "
HYF (1) : WG H Y Tad Heaqul UsHfaes SE g
A (I1) : o § WerAEs o foe wegey <A g g

1) R (1) AR HT () A T £
2) Y (1) IR HA (1) TH Td 2 |
) RUE (I) WE € Afere e (1) Terd 7
4) Y (I) e © AR wA (1) T T

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
« 3, Option ID :- 663,

« 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167

87. Think about the statements and choose the correct answer :
Statement (I) : Rajya Sabha is more powerful than Lok Sabha;
Statement (II) : Our constitution has given the Rajya Sabha some special powers over the states.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II).is false
(4) Statement (I) is false but Statement (II) is true

= A T faaR R HE I I
HUA (1) : T5F T, Gk A E ST FHaemed 2 2 1
HUA (1) : T wiaum § T gay o T 9 F 9 e aifuer feu e €

(1) R (1) A e (1) A1 98 ¥ |
(2) RUF (I) ST HY (1) SF e © |
(3) R (I) TE & wfh e (1) o 2
(4) A (I) T & R HLA (1) T

Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

« 4, Option ID :- 668,
Answer Given:- 3, Option ID : -667

Question ID:- 168




Read these statements carefully and choose the correct option :

Statement (I) : Any ordinary law needs to be passed by both the Houses. But, if there is a difference
between the two Houses, the final decision is taken in a Joint Session.

Statement (II) : In joint session, members of both the Houses sit together. Despite having less
number of members, the views of Rajya Sabha are given priority.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

T YAl I AYAF U AR el fomey & =51 F)

HU (1) : foFe off SO A 1 T & % Taw S0 91 1 STEed gl ¢ | S STR 2M) |el &
s %h1E HeHE 2 o Sfad e S % S sifuaeH J ferdn i €

& (1) : HFo AfedyE d S HeAl & 99 U WY §8d € | 9ell 1 §6 %5 B % aeeg ol

T & o = weferar faerd &
(1) YA (1) 2 HmAT (1) A1 9 T
(2) AT (I) 2 HUT (1) S Terd B
(3) HUF (I) TEl & IR HAF (I1) TeAd 2 |
(4) HIUF (I) TG € I HYT (1) T T

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
« 3, Option ID :- 671,

« 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Think about these statements in the context of India and choose the correct answer.
Statement (I) : President is the head of the state and is the highest formal authority in the country.

Statement (II) : Prime Minister is the head of the government and actually exercises the power on
behalf of the President.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true




ORd F oo H 39 Forl W faanr T 98 ST w99 F
HA (1) : TEUTd TETeAe] Bl § 3R =i ®9 9 <0 o g AR B g

WU (I1) : THFHN TFR F1 THE T & 3R SSTTA T i TR T Sfeenier i &1 s a8
FAZ

(1) e (I) iR sem (1) <A 9d €

(2)  HY (1) SR /YT (M) SH Tord 2 |

(3) Y (1) TE T A wem (1) 7o B
(4) R (I) T € Aok e (1) 981 2
Options:-

.1, Option ID :- 673,

« 2, Option ID :- 674,

. 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Read these statements carefully and choose the correct option.

(i) ‘Nyaya Yudh (Struggle for Justice) Movement’ happened i [harkhand.
(ii) Chaudhary Devi Lal formed the ‘Lok Dal Party’.

(iii) In 1982, Haryana had a government led by the Lol Dal party.

(1) (i) and (i)
(2) Only (i)
(3) (i) and (iii
(4)  Only (iii)

T YAl 1AM H IS AR Falfamhed ol F97 A

() ‘g e FRES H g o1 |

(ii) = SEEr 7 CdRee el 3 ST TR o

(iii) EfEON § 1982 § ‘wiihed Ul i AR Arell HChE o |

(1) (i) M (i)
(2) hE (i)
(3) (i) 3 (iii)
(4) A (iii)
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,

« 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171




Below are two statements. One of them is Assertion (A) and the other is Reason (R).

Assertion (A) : In a democratic country, the election should be conducted in a free and fair
manner.

Reason (R) : Political parties can get their members elected by their own wish.
Which of the following is true in the context of above statements ?

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

2)  (A) and (R) both are true but (R) is not the correct explanation of (A).

3) (A)is true but (R) is false.

4) (A) is false but (R) is true.

(
(
(
91 2 gaer fou Tu ¥ | U i SUeRY (A) TR T AT (R) FE AL
IR (A) : iR o0 H FA19 oA IR v &1 9 e s = |

T (R) : Tifaes WSl o707 TEE 1 FAE ST $T R SR UX Y e |
Sy S el % ded § frefafad § 4 S-a @ €2

(1) (A) 3T (R) 31 W&l 2 ifeh (R), (A) T HE =amem 2
(2) (A) 3R (R) T | ¥ AT (R), (A) FT T =men 76 2
(3) (A) W& & fehT (R) e €

(4) (A) T ® wiferd (R) W&l &)

Options:-

.1, Option ID :- 681,
- 2, Option ID :- 682,
« 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Read these statements carefullynand choose the correct option.

Statement (I) : Any Indian citizen gets the right to vote after attaining 18 years of age.
Statement (II) : There isnominimum age for Indian Citizens to become a candidate in the elections.
(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true




A YAl I AH 9 e AR e fawey w1 99 #W
HYF (1) : I off YReE TR 18 3 &t 39 A & 9 2o F1 b & S
WU (I1) : AT AP Fl FE H STHEaR a9 i g =JAad 39 78l €1

(1) <R (1) 3R e (1) S &1 €1
(2) R (1) SR HYA (1) TFT 7T 2 |
(3) U () WA & Al YA (I1) TTad 2 |
(4) A (1) e & TfFA HYA (1) Tl

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
« 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

There are some restrictions on candidates and parties during Model,Code of Conduct. Choose
those which are correct :

(1) To make any promise in the process of election campaigniing,

(2)

(3) Prohibition on use of any personal vehicle or plane,
(4)

4)  The minister can lay foundation stones of any big preject after the announcement of election.

Use of any religious place for election campaigning.

AR Hiea ¥ seigar) s ufédi #1 g ufefed 2 | <1 98l € S5 5o 5

(1) FAd Y=IR % %H H 918 & T

(2) @ YER & fon femsl arzee o U W)

(3) Tt ame = famm =1y afeid 2

(4) T ferEon & ST % arg wAt R @St A o R Y g 7

Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
« 3, Option ID :- 691,

« 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174




Why does elections happens ? Which of the following statements are true about this ?
(i)  Elections enable the people to judge the performance of the government.

(ii)y People can prepare the policies of their own choice by election.

(iii) Elections enable the people to evaluate the performance of the judiciary.

(1) Only ()
(2) (i) and (i)
(3) Only (iii)
(4)

(if) and (iii)

A F B E 2 3 AR F 3H | -1 9 HE 2

(i)  FATE AN R TRERR F BHES H G HH H TR T T

(i) @ A F ST T A 5w §

(iii) SATE TR R AR F FITHS F oA H H T I S |

(1) e (i)
(2) (i) 3R (i)
(3) keI (i)
(4) (i) #R (i)
Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

Constitution has following works :
(i) It generates a degree of trust and coordination among different kinds of people.

(i) It specifies how the government will be constituted and who will have the power to take
decisions.

(iii) It lays down unlimited powers to the government.

(1) Only (i)

(2 (i and (i)
(3) Only (iii)
(4) (ii) and (iii)




Hfaem o Fre=fafed =@ g

() Tafvm o & @ri % o s s R wedn fasmfad e 71

(ii) % Far & fF TR F e HH e iR R et o & stfesr g
(iii) 7 TR o AR 1 STHifE % 2

(1) ke (i)

(2) () ¥ (i)

(3) A (iii)

(4) (i) 3 (i)

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

- 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176

Following are the objectives of Federal System of governance.

(i) To safeguard and promote the unity of the country.
(ii) To not respect the regional variations.

(1) (1) and (ii) both are true.

(2) (i) and (ii) both are false.

(3) (i) is true but (ii) is false.

(4) (i) is false but (ii) is true.

Heitg g e & frefafad seg €

(i) SR TR R FIAT H SR I FgE <
(i) & fafauaisti 1 9 78w

(1) (i) 3R (i) g1 T&t €

@ () 3R (i) S e E

(3) (l)ﬂﬁ%ﬁm( e & |

(4) (i) T € @R (i) T 2
Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703

Question ID:- 177




Below are two statements about decentralization. Choose the correct option.

Statement (I) : In this, the power is taken away from Central and state government and given to
local government.

Statement (II) : The basic idea behind decentralization is that there are many issues and problems

which can be resolved at local or state level, but the control of Central government
should be ensured, that is why it is done.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

foshgar & ey # f=fafad seedi § § wet famey &1 =97 &1 -

HUF (1) : 3HH g 3 T TOFR T iRl ot T SRR w1 & S & |

HA (1) : Tok=ietol o de ST |4 78 § f6 s ge) i aaened o1 Fuen s 1 T W W
&l 21 S AR S TR 1 s 5 @ gafer T R s )

(1) R (1) % I (1) < =8 2 |
(2)  HYA (1) TR HYA (1) SH ToTd £ |
(3) HYA (1) TE T Alfh swed (1) 7o g
(4) HIF (I) T € Wik YA (1) TET 2

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
- 3, Option ID :- 707,

« 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

In India, seats are reserved for women in :
(1) Lok Sabha

(2) State Legislative assemblies

(3) Cabinets

(4) Panchayati Raj Bodies

UA T TeT 3iRal & fou sTReqm St e §
(1) g
(2) Taurmwm
(3) = TS i HEAW
(4) whHEd
Options:-

.1, Option ID :- 709,
« 2, Option ID :- 710,




. 3, Option ID :- 711,

« 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179

Think about following statements and choose the correct answer :

(1)

According to the Constitution, the use of English for official purpose was to stop in 1965.
However, many non-Hindi speaking states demanded that the use of English should continue.

In 1965, there were violent revolts against the compulsion of use of English.

The Central Government resolved the matter of Hindi - English dispute by agreeing to continue
the use of English along with Hindi.

Only (i)
(i) and (ii)
(i) and (iii)

(ii) and (iii)

frefafEa Fo9 W fTEr 2 98 33 & 999 &

(1)

(@
(i)

(1)
(2
(3)
(4)

—

TfaM % SFHR TXHRT HTHETS Tl 91 3 GRS 1 7HE 1965 § d@g B 5 =nfew o
R T-TES) ardt wewit 3 5 1 o6 2T 1 9E SE @ 9 |

Atz B 1 1965 H ST o WAFT i AfFarar i ot U, e w2 gu 9

F% AR A &S F ou-wny el #1 TSEE wELA man #i erafa SE fEd-sfist faer a1
e |

Fad (i)

(i) S (i)

(i) S (i)

(i) S i)

Options:-
.1, Option ID :- 713,
. 2, Option ID :- 714,

« 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180




What was the reason behind the confrontation between the Sinhala-speakers and Tamil-speakers

in Sri Lanka ?

(A) The majority of Sinhala speaking people.

(B) The majority of Tamil speaking people.

(C) Most of the Sinhala speakers were Buddhists.
(D) Most of the Tamils were Hindus.

Code :

Aicien H feeet- it iR afga-wfel & == 2ea &1 o o917
(A) THEe—rt @R 1 sgerd |

(B) dfH@-aie aret @il hi sgerdl |

(C) ferere feeedt Wt & &g B |

(D)  eiftrerae afier o feg 21

< :

(1) (A) & (B)
(2) (B) @R (D)
(3) (A), (©) 3 (D)
(4) (B), (O) ¥R (D)
Options:-

.1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,

« 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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